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General Ability
Group Number : 1
Group Id : 600929536
Group Maximum Duration : 0



Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

General Ability
Section Id : 600929691
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929827
Question Shuffling Allowed : Yes
  
Question Number : 1 Question Id : 60092912778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.

MOQ, SUW, _______, EGI, KMO
Options :
1.  YNC
2.  YAC
3.  YBC
4.  YSG
  



Question Number : 1 Question Id : 60092912778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत अ�र �ंखला म� लु� पद �ात कर�।

MOQ, SUW, _______, EGI, KMO
Options :
1.  YNC
2.  YAC
3.  YBC
4.  YSG
  
Question Number : 2 Question Id : 60092912779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series.

H9J, K12M, _______, Q18S, T21V
Options :
1.  N15P
2.  N7F
3.  N15F
4.  N8P
  
Question Number : 2 Question Id : 60092912779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �ंृखला म� लु� पद �ात कर�।

H9J, K12M, _______, Q18S, T21V
Options :
1.  N15P
2.  N7F



3.  N15F
4.  N8P
  
Question Number : 3 Question Id : 60092912780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.
Options :
1.  CF
2.  PS
3.  HK
4.  TV
  
Question Number : 3 Question Id : 60092912780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए िवक�ो ंम� से तीन एक िनि�त तरीके से समान ह�। हालाँिक, एक िवक� अ� तीन की तरह नही ंहै। उस िवक� का चयन कर�  जो अ� से अलग है।
Options :
1.  CF
2.  PS
3.  HK
4.  TV
  
Question Number : 4 Question Id : 60092912781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.
Options :
1.  Laws of motion
2.  Kepler’s law



3.  Kirchhoff's 2nd law
4.  Basic laws of composition
  
Question Number : 4 Question Id : 60092912781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए िवक�ो ंम� से तीन एक िनि�त तरीके से समान ह�। हालाँिक, एक िवक� अ� तीन की तरह नही ंहै। उस िवक� का चयन कर�  जो अ� से अलग है।
Options :
1.  गित के िनयम
2.  के�र का िनयम
3.  िकरचॉफ का दुसरा िनयम
4.  संघठन के बुिनयादी िनयम
  
Question Number : 5 Question Id : 60092912782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term. 

SPEAKER : SOUND :: HEATER : ?
Options :
1.  HEAT
2.  CHEMICAL
3.  FOOD
4.  COLD
  
Question Number : 5 Question Id : 60092912782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उस िवक� का चयन कर�  जो तीसरे पद से उसी �कार से संबंिधत है िजस �कार से दूसरा पद पहले पद से संबंिधत है।

�ीकर : �िन :: हीटर : ?
Options :



1.  ऊ�ा
2.  रसायन
3.  भोजन
4.  ठंडी
  
Question Number : 6 Question Id : 60092912783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term. 

Hate : Love :: Dim : ?
Options :
1.  Dull
2.  Black
3.  Bright
4.  Dark
  
Question Number : 6 Question Id : 60092912783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उस िवक� का चयन कर�  जो तीसरे पद से उसी �कार से संबंिधत है िजस �कार से दूसरा पद पहले पद से संबंिधत है।

घृणा: �ेम:: मंद : ?
Options :
1.  सु�
2.  काला
3.  उ�ल
4.  अंधेरा
  
Question Number : 7 Question Id : 60092912784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



In a certain code language, if REFRIGERATOR is coded as ERRFGIRETARO, then what will MACHINES be coded as?
Options :
1.  AMCHSIHE
2.  AMHCNISE
3.  AMHCNIES
4.  AMCHNSIE
  
Question Number : 7 Question Id : 60092912784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक िनि�त कोड भाषा म�, यिद REFRIGERATOR को ERRFGIRETARO के �प म� कोिडत िकया गया है, तो MACHINES को कैसे कोिडत िकया जाएगा?
Options :
1.  AMCHSIHE
2.  AMHCNISE
3.  AMHCNIES
4.  AMCHNSIE
  
Question Number : 8 Question Id : 60092912785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In a certain code if '742' means 'fan be tay', '843' means 'say fan ok', and '902' means 'no be told', then what will be the code of 'tay'?
Options :
1.  9
2.  2
3.  7
4.  4
  
Question Number : 8 Question Id : 60092912785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक िनि�त कोड म� यिद '742' का अथ� है 'fan be tay', '843' का अथ� है 'say fan ok', और '902' का अथ� है 'no be told', तो 'tay' का कोड �ा होगा?
Options :



1.  9
2.  2
3.  7
4.  4
  
Question Number : 9 Question Id : 60092912786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Pointing towards a portrait, Subham said, "This lady is the wife of the only son of the husband of my mother's mother". How is the lady related to
Subham?
Options :
1.  Maternal uncle's wife
2.  Maternal grandmother
3.  Sister
4.  Mother
  
Question Number : 9 Question Id : 60092912786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक िच� की ओर इशारा करते �ए, शुभम ने कहा, "यह मिहला मेरी माता की माता के पित के इकलौते पु� की प�ी है"। वह मिहला सुभम से कैसे संबंिधत है?
Options :
1.  मामा की प�ी
2.  नानी
3.  बहन
4.  माता
  
Question Number : 10 Question Id : 60092912787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
To get a seat in the computer science branch of IIT BOMBAY a student must

1. Have scored above 85% in 12th boards.



2. Must have scored above 90 percentile in Jee Advance exams.
3. Must have scored above 85 percentile in Jee Mains exam.
4. Must not be more than 25 years of age as on 20/06/21.

The following exceptions apply: 
A. If a candidate meets all other criteria except 3 above, the candidate must be referred to the Dean of the institute.
B. A candidate who has got less than 85% marks in 12th board exams, but has scored full marks in either of Maths, Physics, Chemistry will be
shifted to the waiting list.

Simran was born on 15/01/2000. She scored 90% in her 12th boards and cleared both Jee Mains and Jee advance exam. She scored 93 percentile
in Jee Advance and 90 percentile in Jee Main exam.
What decision should be taken about Simran?
Options :
1.  Should be admitted.
2.  Should not be admitted.
3.  Should be referred to the Dean.
4.  Should be shifted to the waiting list.
  
Question Number : 10 Question Id : 60092912787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
IIT बॉ�े की कं�ूटर िव�ान शाखा म� सीट पाने के िलए एक छा� को

1. 12वी ंबोड� म� 85% से ऊपर अंक �ा� िकए होने चािहए।
2. जी एडवांस परी�ा म� 90 शतमक से अिधक अंक �ा� िकए होने चािहए।
3. जी मे� परी�ा म� 85 शतमक से अिधक अंक �ा� िकए होने चािहए।
4. 20/06/21 तक 25 वष� से अिधक की आयु नही ंहोनी चािहए।

िन�िल�खत अपवाद लागू होते ह�:
A. यिद कोई उ�ीदवार उपरो� 3 को छोड़कर अ� सभी मानदंडो ंको पूरा करता है, तो उ�ीदवार को सं�थान के संकाया�� (डीन) को संदिभ�त िकया
जाना चािहए।
B. एक उ�ीदवार िजसने 12वी ंबोड� की परी�ा म� 85% से कम अंक �ा� िकए ह�, लेिकन गिणत, भौितकी, रसायन िव�ान म� से िकसी एक म� पूण� अंक �ा�
िकए ह�, तो उसे �ती�ा सूची म� �थानांत�रत कर िदया जाएगा।

िसमरन का ज� 15/01/2000 को �आ था। उसने अपने 12वी ंबोड� म� 90% अंक �ा� िकए और जी मे� और जी एडवांस परी�ा दोनो ंको उ�ीण� िकया। उसने



जी एडवांस म� 93 शतमक और जी मेन परी�ा म� 90 शतमक हािसल िकए।
िसमरन के िलए �ा िनण�य िलया जाना चािहए?
Options :
1.  �वेश िदया जाना चािहए।
2.  �वेश नही ंिदया जाना चािहए।
3.  संकाया�� (डीन) को संदिभ�त िकया जाना चािहए।
4.  �ती�ा सूची म� �थाना��रत िकया जाना चािहए।
  
Question Number : 11 Question Id : 60092912788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the
statements are true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements. 

Statement I: Some issues are logic.
Statement II: Some logic are data.
Statement III: Some data are news.

Conclusion I: All issues are news.
Conclusion II: Some data are issues.
Options :
1.  Only I follows
2.  Only II follows
3.  Both I and II follows
4.  Neither I nor II follows
  
Question Number : 11 Question Id : 60092912788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस �� म�, तीन कथन िदए गए ह�, िजसके बाद दो िन�ष� I और II िदए गए ह�। यह मानते �ए िक कथन म� सभी जानकारी स� है, दो िन�ष� का एक साथ
िव�ेषण कर�  और िनधा��रत कर�  िक �ा कथन म� दी गई जानकारी म� से कोई भी तािक� क �प से और िनि�त �प से अनुसरण करता/करते है।

कथन I: कुछ मु�े तक�  ह�।



कथन II: कुछ तक�  डेटा ह�।
कथन III: कुछ डेटा समाचार ह�।

िन�ष� I: सभी मु�े समाचार ह�।
िन�ष� II: कुछ डेटा मु�ा ह�।
Options :
1.  केवल I अनुसरण करता है
2.  केवल II अनुसरण करता है
3.  I और II दोनो ंअनुसरण करते ह�
4.  न तो I और न ही II अनुसरण करता है
  
Question Number : 12 Question Id : 60092912789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In this question, a statement has been followed by two arguments numbered I and II. You have to decide which of the arguments is strong.

Statement: Should the defence budget of the country be reduced?

Arguments:
I. No. Country's safety is the most important thing.
II. Yes. We can be dependent on our allied nations to provide us safety and thus we don't need to spend much on our defence.
Options :
1.  Only I is strong
2.  Only II is strong
3.  Both I and II are strong
4.  Neither I nor II is strong
  
Question Number : 12 Question Id : 60092912789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस �� म�, एक कथन िदया गया ह�, िजसके बाद दो तक�  I और II िदए गए ह�। आपको तय करना है िक कौन सा तक�  मजबूत है।

कथन: �ा देश का र�ा बजट कम िकया जाना चािहए?
तक� :



I. नही,ं देश की सुर�ा सबसे मह�पूण� चीज है।
II. हाँ। हम� सुर�ा �दान करने के िलए हम अपने सहयोगी रा�� ो ंपर िनभ�र हो सकते ह� और इस �कार हम� अपनी र�ा पर अिधक खच� करने की आव�कता
नही ंहै।
Options :
1.  केवल I मजबूत है
2.  केवल II मजबूत है
3.  I और II दोनो ंमजबूत ह�
4.  न तो I और न ही II मजबूत है
  
Question Number : 13 Question Id : 60092912790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series.

58, 65, 79, 100, ______
Options :
1.  107
2.  114
3.  121
4.  128
  
Question Number : 13 Question Id : 60092912790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत सं�ा �ंृखला म� लु� पद �ात कर�।

58, 65, 79, 100, ______
Options :
1.  107
2.  114
3.  121
4.  128



  
Question Number : 14 Question Id : 60092912791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term. 

355 : 466 :: 284 : ?
Options :
1.  395
2.  234
3.  359
4.  432
  
Question Number : 14 Question Id : 60092912791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
उस िवक� का चयन कर�  जो तीसरे पद से उसी �कार से संबंिधत है िजस �कार से दूसरा पद पहले पद से संबंिधत है।

355 : 466 :: 284 : ?
Options :
1.  395
2.  234
3.  359
4.  432
  
Question Number : 15 Question Id : 60092912792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship among cotton, silk and nylon?
Options :



1.  

2.  

3.  

4.  

  
Question Number : 15 Question Id : 60092912792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन सा वेन आरेख कपास, रेशम और नायलॉन के बीच के संबंध को सबसे अ�ा दशा�ता है?
Options :

1.  

2.  



3.  

4.  

  
Question Number : 16 Question Id : 60092912793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship among Quran, Geeta and Bible?
Options :

1.  

2.  

3.  

4.  

  
Question Number : 16 Question Id : 60092912793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन सा वेन आरेख क़ुरआन, गीता और बाइिबल के बीच के संबंध को सबसे अ�ा दशा�ता है?
Options :

1.  

2.  

3.  

4.  

  
Question Number : 17 Question Id : 60092912794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the question figure?



Options :

1.  

2.  

3.  

4.  

  
Question Number : 17 Question Id : 60092912794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन सी उ�र आकृित �� आकृित को पूरा करती है?

Options :



1.  

2.  

3.  

4.  

  
Question Number : 18 Question Id : 60092912795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose a pair similar to the pair in the question figure.

Options :



1.  

2.  

3.  

4.  

  
Question Number : 18 Question Id : 60092912795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�� आकृित म� ��थत जोड़ी के समान जोड़ी का चयन कर�।



Options :

1.  

2.  

3.  

4.  



  
Question Number : 19 Question Id : 60092912796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Three different positions of the same dice are given below. Find the alphabet opposite of P?

Options :
1.  S
2.  Q
3.  T
4.  R
  
Question Number : 19 Question Id : 60092912796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक ही पासे की तीन िविभ� ��थितयाँ नीचे दी गई ह�। P के सामने ��थत अ�र �ात कर�?

Options :
1.  S
2.  Q
3.  T



4.  R
  
Question Number : 20 Question Id : 60092912797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the total number of triangles in the figure.

Options :
1.  17
2.  15
3.  16
4.  18
  
Question Number : 20 Question Id : 60092912797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आकृित म� ि�भुजो ंकी कुल सं�ा �ात कर�।

Options :
1.  17
2.  15
3.  16
4.  18
  



  

General Awareness
Group Number : 2
Group Id : 600929537
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

General Awareness
Section Id : 600929692
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929828
Question Shuffling Allowed : Yes
  
Question Number : 21 Question Id : 60092912798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following forms of folk music is traditional and original to Kashmir?
Options :
1.  Chakri



2.  Dohre
3.  Sorathaa
4.  Dadra
  
Question Number : 21 Question Id : 60092912798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
लोक संगीत का िन�िल�खत म� से कौन सा �प क�ीर के िलए पारंप�रक और मूल है?
Options :
1.  चकरी
2.  दोहरे
3.  सोरथा
4.  दादरा
  
Question Number : 22 Question Id : 60092912799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following dance forms of Kashmir is performed exclusively by women?
Options :
1.  Bhand
2.  Rouf
3.  Bachha Nagma
4.  Kud
  
Question Number : 22 Question Id : 60092912799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
क�ीर के िन�िल�खत म� से कौन सा नृ� िवशेष �प से मिहलाओ ं�ारा िकया जाता है?
Options :
1.  भांड
2.  रऊफ



3.  ब�ा नगमा
4.  कुद
  
Question Number : 23 Question Id : 60092912800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Licence Raj in India is the term used to address the economic policies of the government during which of the following time periods?
Options :
1.  1966-1985
2.  1951-1990
3.  1956-1985
4.  1947-1980
  
Question Number : 23 Question Id : 60092912800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत म� लाइस�स राज श� िन�िल�खत म� से िकस अविध के दौरान सरकार की आिथ�क नीितयो ंको संबोिधत करने के िलए �योग िकया जाता है?
Options :
1.  1966-1985
2.  1951-1990
3.  1956-1985
4.  1947-1980
  
Question Number : 24 Question Id : 60092912801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Who was the first Finance Minister of independent India?
Options :
1.  R.K. Shanmukham Chetty
2.  Liaquat Ali
3.  John Mathai
4.  Jawaharlal Nehru



  
Question Number : 24 Question Id : 60092912801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�तं� भारत का पहला िव� मं�ी कौन था?
Options :
1.  आर. के. शनमुखम चे�ी
2.  िलयाक़त अली
3.  जॉन मथाई
4.  जवाहरलाल नेह�
  
Question Number : 25 Question Id : 60092912802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A cathode-ray tube is an integral part of which of these appliances?
Options :
1.  Air- conditioner
2.  Microwave
3.  Radio
4.  Television
  
Question Number : 25 Question Id : 60092912802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कैथोड िकरण निलका इनम� से िकस उपकरण का अिभ� अंग है?
Options :
1.  वातानुकूलन
2.  माइ�ोवेव
3.  रेिडयो
4.  टेलीिवज़न
  



Question Number : 26 Question Id : 60092912803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Humans can detect sounds that fall within which of these frequency ranges?
Options :
1.  50Hz-50kHz
2.  10Hz-10kHz
3.  20Hz-20kHz
4.  30Hz-30kHz
  
Question Number : 26 Question Id : 60092912803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
मनु� उन �िनयो ंका पता लगा सकता है जो इनम� से िकस आवृि� र�ज म� आती ह�?
Options :
1.  50Hz-50kHz
2.  10Hz-10kHz
3.  20Hz-20kHz
4.  30Hz-30kHz
  
Question Number : 27 Question Id : 60092912804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Patkai range consist of hills along India's border with which of the following countries?
Options :
1.  Pakistan
2.  China
3.  Bhutan
4.  Myanmar
  
Question Number : 27 Question Id : 60092912804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
पटकाई पव�त �ंृखला म� िन�िल�खत म� से िकस देश के साथ भारत की सीमा पर पहािड़याँ ��थत ह�?
Options :
1.  पािक�ान
2.  चीन
3.  भूटान
4.  �ा�ार
  
Question Number : 28 Question Id : 60092912805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Barak Valley is present in which of the following North-eastern States?
Options :
1.  Arunachal Pradesh
2.  Tripura
3.  Assam
4.  Nagaland
  
Question Number : 28 Question Id : 60092912805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
बराक घाटी िन�िल�खत म� से िकस उ�र-पूव� रा� म� मौजूद है?
Options :
1.  अ�णाचल �देश
2.  ि�पुरा
3.  असम
4.  नागाल�ड
  
Question Number : 29 Question Id : 60092912806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



The first signs of prehistoric settled life emerged in which of the following regions of the Indian subcontinent?
Options :
1.  Along the Saraswati river
2.  Tiruvallur, Tamil Nadu
3.  Bhimbetka rock shelters
4.  Mehrgarh Neolithic culture
  
Question Number : 29 Question Id : 60092912806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ागैितहािसक बसे �ए जीवन के पहले ल�ण भारतीय उपमहा�ीप के िन�िल�खत म� से िकस �े� म� उभरे?
Options :
1.  सर�ती नदी के िकनारे
2.  ित�व�ुर, तिमल नाडु
3.  भीमबेटका शैला�य
4.  मेहरगढ़ नवपाषाण सं�ृित
  
Question Number : 30 Question Id : 60092912807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Dickinsonia fossil were found at which of the following archaeological sites?
Options :
1.  Hire Benakal
2.  Edakkal
3.  Bhirrana
4.  Bhimbetka
  
Question Number : 30 Question Id : 60092912807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस पुराता��क �थल पर िडिकनसोिनया जीवा� पाए गए थे?
Options :



1.  िहर बेनाकाल
2.  एड�ल
3.  िभरड़ाना
4.  भीमबेटका
  
Question Number : 31 Question Id : 60092912808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The earliest hominin fossils in the Indian subcontinent can be found at which of these sites?
Options :
1.  Narmada Valley
2.  Balochistan mountains
3.  Mehrgarh
4.  Amravati
  
Question Number : 31 Question Id : 60092912808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय उपमहा�ीप म� सबसे पहले होिमिनन जीवा� इनम� से िकस �थल पर पाए जा सकते ह�?
Options :
1.  नम�दा घाटी
2.  बलूिच�ान पहाड़
3.  मेहरगढ़
4.  अमरावती
  
Question Number : 32 Question Id : 60092912809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Viswanathan Anand was the first recipient of which of the following awards?
Options :
1.  Rajiv Gandhi Khel Ratna Award



2.  Arjuna Award
3.  Dronacharya Award
4.  Dhyan Chand Award
  
Question Number : 32 Question Id : 60092912809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िव�नाथन आनंद िन�िल�खत म� से िकस पुर�ार के पहले �ा�कता� थे?
Options :
1.  राजीव गांधी खेल र� पुर�ार
2.  अजु�न पुर�ार
3.  �ोणाचाय� पुर�ार
4.  �ानचंद पुर�ार
  
Question Number : 33 Question Id : 60092912810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Aparna Ghosh has been awarded with which of the following honours for her contributions to the game of basketball?
Options :
1.  Rajiv Gandhi Khel Ratna Award
2.  Dronacharya Award
3.  Dhyan Chand Award
4.  Arjuna Award
  
Question Number : 33 Question Id : 60092912810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अपणा� घोष को बा�ेटबॉल के खेल म� उनके योगदान के िलए िन�िल�खत म� से िकस स�ान से स�ािनत िकया गया है?
Options :
1.  राजीव गांधी खेल र� पुर�ार
2.  �ोणाचाय� पुर�ार



3.  �ानचंद पुर�ार
4.  अजु�न पुर�ार
  
Question Number : 34 Question Id : 60092912811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Pakistan's decision to suspend bilateral trade with India in August 2019 was due to which of the following reasons?
Options :
1.  Reorganisation of Jammu & Kashmir by the amendment of Article370.
2.  Outrage over killing of Pakistani soldiers during Surgical strike.
3.  Due to rise in import tariffs.
4.  Dispute over water sharing of the Indus and its tributaries.
  
Question Number : 34 Question Id : 60092912811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अग� 2019 म� भारत के साथ ि�प�ीय �ापार को िनलंिबत करने का पािक�ान का िनण�य िन�िल�खत म� से िकस कारण से था?
Options :
1.  अनु�ेद 370 के संशोधन �ारा ज�ू और क�ीर का पुनग�ठन।
2.  श� अ�व�धन (सिज�कल �� ाइक) के दौरान पािक�ानी सैिनको ंके मारे जाने पर आ�ोश।
3.  आयात शु� म� वृ�� के कारण।
4.  िसंधु और उसकी सहायक निदयो ंके जल बंटवारे पर िववाद।
  
Question Number : 35 Question Id : 60092912812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In February 2019, the Pulwama attack on Indian paramilitary forces was claimed by which of these militant groups?
Options :
1.  Lashkar-e-Taiba
2.  Al-Qaeda
3.  Jaish-e-Mohammad



4.  Jaish-ul-Adl
  
Question Number : 35 Question Id : 60092912812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
फरवरी 2019 म�, भारतीय अध�सैिनक बलो ंपर पुलवामा हमले का दावा इनम� से िकस आतंकवादी समूह ने िकया था?
Options :
1.  ल�र-ए-तैयबा
2.  अल-क़ायदा
3.  जैश-ए-मोह�द
4.  जैश उल-अद्ल
  
Question Number : 36 Question Id : 60092912813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
On the 12th of July, 2021, 11 people were rescued from flash floods in which district of Jammu & Kashmir?
Options :
1.  Doda
2.  Kathua
3.  Kulgam
4.  Pulwama
  
Question Number : 36 Question Id : 60092912813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
12 जुलाई, 2021 को ज�ू और क�ीर के िकस िजले म� 11 लोगो ंको आक��क बाढ़ से बचाया गया?
Options :
1.  डोडा
2.  कठुआ
3.  कुलगाम
4.  पुलवामा



  
Question Number : 37 Question Id : 60092912814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following plans proposed that all members of the Viceroy's executive council, except the Viceroy and the Commander- in Chief
would be Indians?
Options :
1.  Morley- Minto reforms, 1909
2.  Mountbatten Plan, 1947
3.  Wavell Plan, 1945
4.  Sargent Plan, 1944
  
Question Number : 37 Question Id : 60092912814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस योजना ने ��ािवत िकया िक वायसराय की काय�-प�रषद के सभी सद�, वायसराय और �धान सेनापित को छोड़कर, भारतीय होगें?
Options :
1.  माल�-िम�ो सुधार, 1909
2.  माउ�बैटन योजना, 1947
3.  वैवेल योजना, 1945
4.  सारज�ट योजना, 1944
  
Question Number : 38 Question Id : 60092912815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Bengal Sati Regulation Act was passed in the year ______ .
Options :
1.  1806
2.  1819
3.  1826
4.  1829
  



Question Number : 38 Question Id : 60092912815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
बंगाल सती िविनयमन अिधिनयम ______ वष� म� पा�रत िकया गया था।
Options :
1.  1806
2.  1819
3.  1826
4.  1829
  
Question Number : 39 Question Id : 60092912816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In which of the following events did Kabaddi first get international exposure?
Options :
1.  1940 Tokyo Olympics
2.  Asian Games 1951
3.  1936 Berlin Olympics
4.  Asian games 1982
  
Question Number : 39 Question Id : 60092912816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से िकस �ितयोिगता म� कब�ी को पहली बार अंतररा�� ीय �र पर पहचान िमली?
Options :
1.  1940 टो�ो ओलंिपक
2.  एिशयाई खेल 1951
3.  1936 बिल�न ओलंिपक
4.  एिशयाई खेल 1982
  
Question Number : 40 Question Id : 60092912817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In which year did the Indian Men's Table Tennis Team manage to win the first medal (bronze) at the Asian Games?
Options :
1.  2018 Jakarta
2.  2014 Incheon
3.  2010 Guangzhou
4.  2006 Doha
  
Question Number : 40 Question Id : 60092912817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय पु�ष टेबल टेिनस टीम िकस वष� म� एिशयाई खेलो ंम� पहला पदक (कां�) जीत पायी थी?
Options :
1.  2018 जकाता�
2.  2014 इंिचयोन
3.  2010 �ांगझोउ
4.  2006 दोहा
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Question Number : 41 Question Id : 60092912818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What value should come in place of the question mark (?) in the following question?

18(1/3) + 9(2/3) - 10(1/3) = 1(2/3) + ?

Note: For this question, discrepancy is found in question/answer. So,this
question is ignored for all candidates.
Options :
1. 10
2. 15
3. 18
4. 16
  
Question Number : 41 Question Id : 60092912818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म� ��वाचक िच� (?) के �थान पर �ा मान आना चािहए?



18(1/3) + 9(2/3) - 10(1/3) = 1(2/3) + ?

Note: For this question, discrepancy is found in question/answer. So,this
question is ignored for all candidates.
Options :
1. 10
2. 15
3. 18
4. 16
  
Question Number : 42 Question Id : 60092912819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Simplify:

(0.06% of 1250) - (0.08% of 450)
Options :
1.  0.29
2.  39
3.  0.39
4.  3.9
  
Question Number : 42 Question Id : 60092912819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सरलीकृत कर� :

(1250 का 0.06%) - (450 का 0.08%)
Options :
1.  0.29
2.  39
3.  0.39



4.  3.9
  
Question Number : 43 Question Id : 60092912820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The captain of a football team of 11 members is 28 years old and the Goal keeper is 4 years older than him. If the ages of these two are excluded,
the average age of the remaining players is two years less than the average age of the whole team. What is the average age of the team?
Options :
1.  15 years
2.  22 years
3.  21 years
4.  29 years
  
Question Number : 43 Question Id : 60092912820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
11 सद�ो ंकी एक फ़ुटबॉल टीम का क�ान 28 वष� का है और गोलकीपर उससे 4 वष� बड़ा है। यिद इन दोनो ंकी आयु को हटा िदया जाए, तो शेष �खलािड़यों
की औसत आयु पूरी टीम की औसत आयु से दो वष� कम है। टीम की औसत आयु �ा है?
Options :
1.  15 वष�
2.  22 वष�
3.  21 वष�
4.  29 वष�
  
Question Number : 44 Question Id : 60092912821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
 A fruit seller has a certain number of pineapples of which 15% are rotten. He sells 80% of the remainder and he is left with 510 pineapples. How
many pineapples did he have originally?
Options :
1.  7000
2.  3600



3.  3000
4.  5000
  
Question Number : 44 Question Id : 60092912821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक फल िव�ेता के पास िनि�त सं�ा म� अनानास ह� िजनम� से 15% सड़े �ए ह�। वह शेष का 80% बेचता है और उसके पास 510 अनानास बच जाते ह�। उसके
पास �ार� म� िकतने अनानास थे?
Options :
1.  7000
2.  3600
3.  3000
4.  5000
  
Question Number : 45 Question Id : 60092912822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Ramesh got 60% in Economics and 46% in Accounts and the maximum marks of both papers are 100. What percent does he score in maths, if
scores 50% marks in all the three subjects? Maximum marks of maths paper are 200.
Options :
1.  47 percent
2.  30 percent
3.  54 percent
4.  40 percent
  
Question Number : 45 Question Id : 60092912822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
रमेश ने अथ�शा� म� 60% और लेखा म� 46% �ा� िकया और दोनो ंपेपरो ंके अिधकतम अंक 100 ह�। यिद तीनो ंिवषयो ंम� 50% अंक �ा� होते ह�, तो उसे
गिणत म� िकतने �ितशत अंक �ा� होते ह�? गिणत के पेपर के अिधकतम अंक 200 ह�।
Options :
1.  47 �ितशत



2.  30 �ितशत
3.  54 �ितशत
4.  40 �ितशत
  
Question Number : 46 Question Id : 60092912823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A person has planned to sell his old laptop for Rs. 4800, he would lose 20%. To gain 15% of profit, he should sell it for:
Options :
1.  Rs. 6900
2.  Rs. 6300
3.  Rs. 7200
4.  Rs. 5500
  
Question Number : 46 Question Id : 60092912823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक ��� ने अपने पुराने लैपटॉप को 4800 �पए म� बेचने की योजना बनाई है, उसे 20% का नुकसान होगा। 15% लाभ �ा� करने के िलए उसे इसे िन� पर
बेचना चािहए:
Options :
1.  6900 �पए
2.  6300 �पए
3.  7200 �पए
4.  5500 �पए
  
Question Number : 47 Question Id : 60092912824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
If an article of Marked price Rs.1200 is sold after two successive discounts of 30% and 40%, then what is the selling price of the given article?
Options :
1.  Rs. 504



2.  Rs. 604
3.  Rs. 514
4.  Rs. 614
  
Question Number : 47 Question Id : 60092912824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
यिद 1200 �पए के अंिकत मू� की व�ु को 30% और 40% की दो �िमक छूटो ंके बाद बेचा जाता है, तो दी गई व�ु का िव�य मू� �ा है?
Options :
1.  504 �पए
2.  604 �पए
3.  514 �पए
4.  614 �पए
  
Question Number : 48 Question Id : 60092912825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A firm, at the time of inflation reduced the staff in the ratio 12 : 5, and the average salary per employee is increased in the ratio 9 : 17. By doing
so, the Firm saved Rs. 46,000. What was the initial expenditure (in Rs) of the Firm?
Options :
1.  Rs. 2,16,000
2.  Rs. 90,000
3.  Rs. 2,50,000
4.  Rs. 1,90,000
  
Question Number : 48 Question Id : 60092912825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक फम� ने मु�ा�ीित के समय कम�चा�रयो ंको 12 : 5 के अनुपात म� कम कर िदया, और �ित कम�चारी औसत वेतन 9 : 17 के अनुपात म� बढ़ गया। ऐसा करने
से, फम� ने 46,000 �पए बचाए। फम� का �ारंिभक �य (�पए म�) �ा था?
Options :
1.  2,16,000 �पए



2.  90,000 �पए
3.  2,50,000 �पए
4.  1,90,000 �पए
  
Question Number : 49 Question Id : 60092912826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Eight years ago, Maria's age was equal to the sum of the present ages of her only son and only daughter. Ten years hence, the respective ratio
between the ages of her daughter and her son that time will be 6 : 5. If Maria's husband is 8 years elder to her and his present age is four times the
present age of their son, what is the present age of Maria's daughter?
Options :
1.  10 years
2.  12 years
3.  14 years
4.  15 years
  
Question Number : 49 Question Id : 60092912826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आठ वष� पहले, मा�रया की आयु उसके इकलौते पु� और इकलौती पु�ी की वत�मान आयु के योग के बराबर थी। दस वष� बाद, उसकी पु�ी और उसके पु� की
आयु के बीच का अनुपात उस समय 6 : 5 होगा। यिद मा�रया का पित उससे 8 वष� बड़ा है और उसकी वत�मान आयु उसके पु� की वत�मान आयु की चार गुना है,
तो मा�रया की पु�ी की वत�मान आयु �ा ह�?
Options :
1.  10 वष�
2.  12 वष�
3.  14 वष�
4.  15 वष�
  
Question Number : 50 Question Id : 60092912827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A sum is kept under simple interest after 4 years the amount received is 4 times of the sum. In how many years will we get an amount of 6 times



the original sum at the same rate?
Options :
1.  7 years
2.  5 years
3.  20/7 years
4.  20/3 years
  
Question Number : 50 Question Id : 60092912827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक धनरािश को साधारण �ाज के तहत रखा गया है, 4 वष� के बाद �ा� रािश, धनरािश का 4 गुना है। िकतने वष� म� हम� उसी दर पर मूल धनरािश का 6 गुना
रािश �ा� होगी?
Options :
1.  7 वष�
2.  5 वष�
3.  20/7 वष�
4.  20/3 वष�
  
Question Number : 51 Question Id : 60092912828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Neerav and Mehul borrowed Rs. 4000 and Rs. 5000 respectively at a rate of x% per annum for 2.5 years. Mehul paid Rs. 125 more interest than
Neerav. Find x.
Options :
1.  4
2.  5
3.  6
4.  8
  
Question Number : 51 Question Id : 60092912828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



नीरव और मे�ल ने 2.5 वष� के िलए x% �ित वष� की दर से �मशः  4000 �पए और 5000 �पए उधार िलए। मे�ल ने नीरव से 125 �पए अिधक �ाज का
भुगतान िकया। x �ात कर�।
Options :
1.  4
2.  5
3.  6
4.  8
  
Question Number : 52 Question Id : 60092912829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A man covers 5/11 part of his journey by train, 1/3 part by bus, 1/8 by car and the remaining 23 km on foot. Find the total distance covered by
man.
Options :
1.  180 km
2.  220 km
3.  264 km
4.  132 km
  
Question Number : 52 Question Id : 60092912829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक ��� अपनी या�ा का 5/11 भाग रेलगाड़ी से, 1/3 भाग बस से, 1/8 भाग कार से और शेष 23 km पैदल या�ा करके तय करता है। ��� �ारा तय की गई
कुल दूरी �ात कर�।
Options :
1.  180 km
2.  220 km
3.  264 km
4.  132 km
  
Question Number : 53 Question Id : 60092912830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A person covers a certain distance with 8 km/hr, he gets late by 12 minutes. If he covers the same distance with 12 km/hr, then he gets 2 minutes
late only. Find the time in which he must reach the destination so that he is not late.
Options :
1.  18 minutes
2.  20 minutes
3.  30 minutes
4.  28 minutes
  
Question Number : 53 Question Id : 60092912830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक ��� एक िनि�त दूरी 8 km/hr से तय करता है, वह 12 िमनट की देरी से प�ंचता है। यिद वह उसी दूरी को 12 km/hr से तय करता है, तो वह केवल 2
िमनट की देरी से प�ंचता है। वह समय �ात कर�  िजसम� उसे गंत� तक प�ंचना है तािक उसे देरी न हो।
Options :
1.  18 िमनट
2.  20 िमनट
3.  30 िमनट
4.  28 िमनट
  
Question Number : 54 Question Id : 60092912831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A is 45% more efficient than B, and B takes 9 days more than A to complete a piece of work. How many days will A take to complete the same
work?
Options :
1.  30 days
2.  20 days
3.  24 days
4.  29 days
  
Question Number : 54 Question Id : 60092912831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A, B से 45% अिधक कुशल है, और B एक काय� को पूरा करने म� A से 9 िदन अिधक लेता है। A उसी काय� को पूरा करने म� िकतने िदन लेगा?
Options :
1.  30 िदन
2.  20 िदन
3.  24 िदन
4.  29 िदन
  
Question Number : 55 Question Id : 60092912832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Efficiency of Q is 40% of P. P and Q can complete a work in 12 days. In how much time Q alone can do it?
Options :
1.  42 days
2.  31 days
3.  21 days
4.  24 days
  
Question Number : 55 Question Id : 60092912832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Q की �मता P का 40% है। P और Q एक काय� को 12 िदनो ंम� पूरा कर सकते ह�। Q अकेला इसे िकतने समय म� कर सकता है?
Options :
1.  42 िदन
2.  31 िदन
3.  21 िदन
4.  24 िदन
  
Question Number : 56 Question Id : 60092912833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A toy has a cylindrical base with a hemispherical top. The radius of hemisphere is 7 cm. Find the volume of the toy if height of cylindrical base is
3 cm.(Use π = 22/7)
Options :
1.  778.6 cu. cm
2.  1265.4 cu. cm
3.  1368.8 cu. cm
4.  1181 cu. cm
  
Question Number : 56 Question Id : 60092912833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक �खलौने का बेलनाकार आधार होता है िजसम� अध�गोलाकार शीष� है। अध�गोले की ि��ा 7 cm है। यिद बेलनाकार आधार की ऊंचाई 3 cm है तो �खलौने का
आयतन �ात कर�। (π = 22/7 का �योग कर� )
Options :
1.  778.6 cu. cm
2.  1265.4 cu. cm
3.  1368.8 cu. cm
4.  1181 cu. cm
  
Question Number : 57 Question Id : 60092912834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A hollow spherical shell has internal and external surface radius 5 cm and 6 cm respectively. It is melted and recast into a solid cylinder of radius
3 cm. Find the (approx.) height of the cylinder.
Options :
1.  7.7 cm
2.  6 cm
3.  4.7 cm
4.  13.48 cm
  
Question Number : 57 Question Id : 60092912834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
एक खोखले गोलाकार खोल की आंत�रक और बाहरी पृ�ीय ि��ा �मशः  5 cm और 6 cm है। इसे िपघलाकर 3 cm ि��ा के ठोस बेलन म� ढाला गया है। बेलन
की ऊँचाई (लगभग) �ात कर�।
Options :
1.  7.7 cm
2.  6 cm
3.  4.7 cm
4.  13.48 cm
  
Question Number : 58 Question Id : 60092912835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The following table shows sales distribution of laptops by five shopkeepers in July, 2020. Total sales of all 5 shopkeepers in July, 2020 is
considered to be 100%.
Find the total number of windows laptops sold by A and B together.

Options :
1.  1814
2.  1418
3.  1481
4.  1344
  



Question Number : 58 Question Id : 60092912835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत तािलका जुलाई, 2020 म� पांच दुकानदारो ं�ारा लैपटॉप की िब�ी िवतरण को दशा�ती है। जुलाई, 2020 म� सभी 5 दुकानदारो ंकी कुल िब�ी 100%
मानी गई है।
A और B �ारा एकसाथ बेचे गए िवंडोज़ लैपटॉप की कुल सं�ा �ात कर�।

Options :
1.  1814
2.  1418
3.  1481
4.  1344
  
Question Number : 59 Question Id : 60092912836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The following line graph shows vote count (in thousands) in 5 different cities - A, B, C, D and E in two different years -2013 and 2014.
If the vote count at Centre F in 2013 and 2014 was 10% and 20% more than that of Centre B in these years respectively, then what was the total
vote count at centre F in both these years together?



Options :
1.  37800
2.  41000
3.  36900
4.  40000
  
Question Number : 59 Question Id : 60092912836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत रेखा �ाफ 5 अलग-अलग शहरो ं- A, B, C, D और E म� दो िविभ� वष� -2013 और 2014 म� मतो ंकी िगनती (हजारो ंम�) को दशा�ता है।
यिद 2013 और 2014 म� क� � F पर मतो ंकी सं�ा इन वष� म� क� � B की तुलना म� �मशः  10% और 20% अिधक थी, तो इन दोनो ंवष� म� एक साथ क� � F पर
कुल मतो ंकी सं�ा िकतनी थी?



Options :
1.  37800
2.  41000
3.  36900
4.  40000
  
Question Number : 60 Question Id : 60092912837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The following line diagram shows production of Pulse(in tones) by five states during two given years.
The production in the state Uttarakhand and Punjab increased by 20% and 40% respectively from 2020 to 2021. What was the total production of
the Pulse in the state Uttarakhand and Punjab together in 2021?



Options :
1.  175 tones
2.  470 tones
3.  280 tones
4.  390 tones
  
Question Number : 60 Question Id : 60092912837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत रेखा आरेख दो िदए गए वष� के दौरान पांच रा�ो ं�ारा दलहन (टन म�) के उ�ादन को दशा�ता है।
2020 से 2021 तक उ�राखंड और पंजाब रा� म� उ�ादन म� �मशः  20% और 40% की वृ�� �ई। 2021 म� उ�राखंड और पंजाब रा� का एक साथ दलहन
का कुल उ�ादन िकतना था?



Options :
1.  175 टन
2.  470 टन
3.  280 टन
4.  390 टन
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Question Number : 61 Question Id : 60092912838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'. 

Sarah told us that, "whenever Philip came/ into the room, she felt the/ radiation of a vast and unseen force."
Options :
1.  Sarah told us that, "whenever Philip came
2.  into the room, she felt the
3.  radiation of a vast and unseen force."
4.  No Error
  
Question Number : 61 Question Id : 60092912838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'. 

Sarah told us that, "whenever Philip came/ into the room, she felt the/ radiation of a vast and unseen force."
Options :



1.  Sarah told us that, "whenever Philip came
2.  into the room, she felt the
3.  radiation of a vast and unseen force."
4.  No Error
  
Question Number : 62 Question Id : 60092912839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'. 

It's a marital rendezvous,/ a meeting place for Paul and/ I after one of his weeks away.
Options :
1.  It's a marital rendezvous,
2.  a meeting place for Paul and
3.  I after one of his weeks away.
4.  No Error
  
Question Number : 62 Question Id : 60092912839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'. 

It's a marital rendezvous,/ a meeting place for Paul and/ I after one of his weeks away.
Options :
1.  It's a marital rendezvous,
2.  a meeting place for Paul and
3.  I after one of his weeks away.
4.  No Error
  
Question Number : 63 Question Id : 60092912840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Jane's aunt asked us, ("Where was Jane last night.")
Options :
1.  "Where was Jane last night?"
2.  where had Jane been last night.
3.  Where Jane was last night?
4.  No correction required
  
Question Number : 63 Question Id : 60092912840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Jane's aunt asked us, ("Where was Jane last night.")
Options :
1.  "Where was Jane last night?"
2.  where had Jane been last night.
3.  Where Jane was last night?
4.  No correction required
  
Question Number : 64 Question Id : 60092912841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Its extreme heat and raspingly dry climate (has sent many an enterprising winemakers packing).
Options :
1.  had sent many a enterprising winemakers packing
2.  had sent many an enterprising winemakers packing



3.  has sent many an enterprising winemaker packing
4.  No correction required
  
Question Number : 64 Question Id : 60092912841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Its extreme heat and raspingly dry climate (has sent many an enterprising winemakers packing).
Options :
1.  had sent many a enterprising winemakers packing
2.  had sent many an enterprising winemakers packing
3.  has sent many an enterprising winemaker packing
4.  No correction required
  
Question Number : 65 Question Id : 60092912842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

They executed riots within the school over specific grievances or to __________ their own power within the school population.
Options :
1.  subsidize
2.  aggrandize
3.  mirandize
4.  legendize
  
Question Number : 65 Question Id : 60092912842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.



They executed riots within the school over specific grievances or to ____________ their own power within the school population.
Options :
1.  subsidize
2.  aggrandize
3.  mirandize
4.  legendize
  
Question Number : 66 Question Id : 60092912843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

This may be in part because it is a younger art, and one more _____________ to modern sensibilities.
Options :
1.  amenable
2.  unamenable
3.  convenable
4.  disenable
  
Question Number : 66 Question Id : 60092912843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

This may be in part because it is a younger art, and one more _______________ to modern sensibilities.
Options :
1.  amenable
2.  unamenable
3.  convenable
4.  disenable
  
Question Number : 67 Question Id : 60092912844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

As ever, he will try

P. needs to bolster his macho

Q. and sack them whenever he

R. on his so-called editors

S. to pin the blame

style of management.
Options :
1.  SPRQ
2.  SQRP
3.  SPQR
4.  SRQP
  
Question Number : 67 Question Id : 60092912844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

As ever, he will try

P. needs to bolster his macho

Q. and sack them whenever he

R. on his so-called editors

S. to pin the blame

style of management.



Options :
1.  SPRQ
2.  SQRP
3.  SPQR
4.  SRQP
  
Question Number : 68 Question Id : 60092912845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

whimsical
Options :
1.  amusing
2.  common
3.  droll
4.  mischievous
  
Question Number : 68 Question Id : 60092912845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

whimsical
Options :
1.  amusing
2.  common
3.  droll
4.  mischievous
  
Question Number : 69 Question Id : 60092912846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Select the word that is similar in meaning (SYNONYM) to the word given below.

volatile
Options :
1.  constant
2.  buoyant
3.  dependable
4.  steady
  
Question Number : 69 Question Id : 60092912846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

volatile
Options :
1.  constant
2.  buoyant
3.  dependable
4.  steady
  
Question Number : 70 Question Id : 60092912847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :
1.  imprudense
2.  imprudence
3.  imprudance
4.  imprudanse
  
Question Number : 70 Question Id : 60092912847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :
1.  imprudense
2.  imprudence
3.  imprudance
4.  imprudanse
  
Question Number : 71 Question Id : 60092912848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :
1.  chicanery
2.  forstall
3.  coalesce
4.  nuance
  
Question Number : 71 Question Id : 60092912848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :
1.  chicanery
2.  forstall
3.  coalesce
4.  nuance
  
Question Number : 72 Question Id : 60092912849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



Loose cannon
Options :
1.  Someone who is unpredictable and can cause damage if not kept in check
2.  Unable to understand
3.  To understand the details
4.  Under firm control, well managed
  
Question Number : 72 Question Id : 60092912849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Loose cannon
Options :
1.  Someone who is unpredictable and can cause damage if not kept in check
2.  Unable to understand
3.  To understand the details
4.  Under firm control, well managed
  
Question Number : 73 Question Id : 60092912850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning.

Get fired from the job
Options :
1.  Hit below the belt
2.  Get your walking papers
3.  Ivory tower
4.  Idle hands are the devil’s tools
  
Question Number : 73 Question Id : 60092912850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning.

Get fired from the job
Options :
1.  Hit below the belt
2.  Get your walking papers
3.  Ivory tower
4.  Idle hands are the devil’s tools
  
Question Number : 74 Question Id : 60092912851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Sets of principles concerned with the nature and appreciation of beauty
Options :
1.  aesthetics
2.  homiletics
3.  saleratus
4.  synthetics
  
Question Number : 74 Question Id : 60092912851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Sets of principles concerned with the nature and appreciation of beauty
Options :
1.  aesthetics
2.  homiletics
3.  saleratus



4.  synthetics
  
Question Number : 75 Question Id : 60092912852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A group of guns or missile launchers operated together at one place
Options :
1.  cemetery
2.  battery
3.  skittery
4.  psaltery
  
Question Number : 75 Question Id : 60092912852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A group of guns or missile launchers operated together at one place
Options :
1.  cemetery
2.  battery
3.  skittery
4.  psaltery
Sub-Section Number : 2
Sub-Section Id : 600929831
Question Shuffling Allowed : Yes
  
Question Id : 60092912853 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (76 to 80)
Read the passage carefully and choose the best answer to each question out of the four alternatives.



Obesity is becoming a major problem for many people throughout the world. Obesity is caused by lack of exercise, unhealthy foods and fattening
foods that are high in calories. Too much unhealthy eating can cause internal problems with your body and gives you a greater chance of catching
a disease known as diabetes. This is a very bad disease which causes your teeth to fall out, also liver and heart problems. Obese people are more
likely to catch this illness than fit and healthy people. A very good way to keep fit and lose weight is by exercising and doing lots of it. For
example, swimming is a very good way to lose calories because it works up all your muscles. Don't worry if you are not any good at swimming
because there are lots of other ways that you can exercise and keep fit in.
A very good way to do this is by using an exercise machine such as an exercise bike. If you don't have one, you can go out for a little jog. That
really helps. It is recommended that you do about one to two hours of exercise a day. Having a nice little run is a simple but effective way to
exercise and it works for lots of people. For those people that find it difficult to do physical exercise, they can always go on a low fat diet. This
stops the build up of fat in your body. Usually there is more fat in females and by doing a daily workout, it will go very quickly. If you are
suffering from obesity, my best advice would be to do at least an hour exercise each day and preferably go on a diet until you feel that you have
lost a stone or two. This is a critical issue and more and more people around the world are becoming more obese and this is not a good sign.
Sub questions
 
Question Number : 76 Question Id : 60092912854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is mentioned as an alternative to exercising to keep fit?
Options :
1.  Low fat diet
2.  Yoga
3.  Calisthenics
4.  Meditation
 
Question Number : 77 Question Id : 60092912855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which exercise is mentioned as an all-round body exercise which involves usage of all muscles?
Options :
1.  Weight-lifting
2.  Swimming
3.  Jogging
4.  Biking
 



Question Number : 78 Question Id : 60092912856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to the passage which of the following is not a cause of Obesity?
Options :
1.  Lack of exercise
2.  Unhealthy foods
3.  Consumption of carbonized non-sugary drinks
4.  High calories fattening food
 
Question Number : 79 Question Id : 60092912857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :
1.  Women generally have more fat than men.
2.  One of the major causes of diabetes is obesity
3.  Obesity causes cardiovascular issues and teeth decay.
4.  An alternative to exercising is doing Yoga.
 
Question Number : 80 Question Id : 60092912858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following ill effects does diabetes not cause to one's body?
Options :
1.  Heart problems
2.  Loss of bone density
3.  Falling of teeth
4.  Liver problems
  
Question Id : 60092912853 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (76 to 80)



Read the passage carefully and choose the best answer to each question out of the four alternatives.

Obesity is becoming a major problem for many people throughout the world. Obesity is caused by lack of exercise, unhealthy foods and fattening
foods that are high in calories. Too much unhealthy eating can cause internal problems with your body and gives you a greater chance of catching
a disease known as diabetes. This is a very bad disease which causes your teeth to fall out, also liver and heart problems. Obese people are more
likely to catch this illness than fit and healthy people. A very good way to keep fit and lose weight is by exercising and doing lots of it. For
example, swimming is a very good way to lose calories because it works up all your muscles. Don't worry if you are not any good at swimming
because there are lots of other ways that you can exercise and keep fit in.
A very good way to do this is by using an exercise machine such as an exercise bike. If you don't have one, you can go out for a little jog. That
really helps. It is recommended that you do about one to two hours of exercise a day. Having a nice little run is a simple but effective way to
exercise and it works for lots of people. For those people that find it difficult to do physical exercise, they can always go on a low fat diet. This
stops the build up of fat in your body. Usually there is more fat in females and by doing a daily workout, it will go very quickly. If you are
suffering from obesity, my best advice would be to do at least an hour exercise each day and preferably go on a diet until you feel that you have
lost a stone or two. This is a critical issue and more and more people around the world are becoming more obese and this is not a good sign.
Sub questions
 
Question Number : 76 Question Id : 60092912854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is mentioned as an alternative to exercising to keep fit?
Options :
1.  Low fat diet
2.  Yoga
3.  Calisthenics
4.  Meditation
 
Question Number : 77 Question Id : 60092912855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which exercise is mentioned as an all-round body exercise which involves usage of all muscles?
Options :
1.  Weight-lifting
2.  Swimming
3.  Jogging
4.  Biking



 
Question Number : 78 Question Id : 60092912856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to the passage which of the following is not a cause of Obesity?
Options :
1.  Lack of exercise
2.  Unhealthy foods
3.  Consumption of carbonized non-sugary drinks
4.  High calories fattening food
 
Question Number : 79 Question Id : 60092912857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :
1.  Women generally have more fat than men.
2.  One of the major causes of diabetes is obesity
3.  Obesity causes cardiovascular issues and teeth decay.
4.  An alternative to exercising is doing Yoga.
 
Question Number : 80 Question Id : 60092912858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following ill effects does diabetes not cause to one's body?
Options :
1.  Heart problems
2.  Loss of bone density
3.  Falling of teeth
4.  Liver problems
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Question Number : 81 Question Id : 60092912859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए सही संिध िव�ेद की संिध का सही िवक� हो। 

मही + ई�र
Options :
1.  मही�र



2.  महे�र
3.  महा�र
4.  महै�र
  
Question Number : 81 Question Id : 60092912859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए सही संिध िव�ेद की संिध का सही िवक� हो। 

मही + ई�र
Options :
1.  मही�र
2.  महे�र
3.  महा�र
4.  महै�र
  
Question Number : 82 Question Id : 60092912860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए संिध का सही संिध िव�ेद हो। 

गंगोदक
Options :
1.  गंगा + ओदक
2.  गंगा +ऊदक
3.  गंगा + औदक
4.  गंगा + उदक
  
Question Number : 82 Question Id : 60092912860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए संिध का सही संिध िव�ेद हो। 

गंगोदक
Options :
1.  गंगा + ओदक
2.  गंगा +ऊदक
3.  गंगा + औदक
4.  गंगा + उदक
  
Question Number : 83 Question Id : 60092912861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो उपसग� से बने श� का सही िवक� हो।
Options :
1.  पहाडी
2.  आबादी
3.  सरपंच
4.  भौितकी
  
Question Number : 83 Question Id : 60092912861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो उपसग� से बने श� का सही िवक� हो।
Options :
1.  पहाडी
2.  आबादी
3.  सरपंच
4.  भौितकी
  
Question Number : 84 Question Id : 60092912862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो ��य से बने श� का सही िवक� हो।
Options :
1.  सप�रवार
2.  िमलनसार
3.  संपादक
4.  �कार
  
Question Number : 84 Question Id : 60092912862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो ��य से बने श� का सही िवक� हो।
Options :
1.  सप�रवार
2.  िमलनसार
3.  संपादक
4.  �कार
  
Question Number : 85 Question Id : 60092912863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो वा�ांशो ंके िलए एक श� का सही िवक� हो। 

हाथ की िलखी पु�क ---
Options :
1.  पांडुिलपी
2.  पु�क
3.  ह�िल�खत
4.  ह�पु�क
  
Question Number : 85 Question Id : 60092912863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो वा�ांशो ंके िलए एक श� का सही िवक� हो। 

हाथ की िलखी पु�क ---
Options :
1.  पांडुिलपी
2.  पु�क
3.  ह�िल�खत
4.  ह�पु�क
  
Question Number : 86 Question Id : 60092912864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� के िलए सही कम�धारय समास के िव�ह का िवक� हो। 

पनच�ी
Options :
1.  पानी म� चलने वाली च�ी
2.  च�ी जो पानी म� है
3.  पानी से चलने वाली च�ी
4.  पानी और च�ी
  
Question Number : 86 Question Id : 60092912864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� के िलए सही कम�धारय समास के िव�ह का िवक� हो। 

पनच�ी
Options :
1.  पानी म� चलने वाली च�ी
2.  च�ी जो पानी म� है



3.  पानी से चलने वाली च�ी
4.  पानी और च�ी
  
Question Number : 87 Question Id : 60092912865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� यु� का सही अथ� हो। 

चपल-चपला
Options :
1.  चंचल,िबजली
2.  घड़ा ,घने बादल
3.  रचना ,िबजली
4.  तैयार,घड़ा
  
Question Number : 87 Question Id : 60092912865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए श� यु� का सही अथ� हो। 

चपल-चपला
Options :
1.  चंचल,िबजली
2.  घड़ा ,घने बादल
3.  रचना ,िबजली
4.  तैयार,घड़ा
  
Question Number : 88 Question Id : 60092912866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो शु� श� का सही िवक� है।
Options :



1.  कूशालतापूव�क
2.  कूशालतापुव�क
3.  कूशा�ापुव�क
4.  कुशलतापूव�क
  
Question Number : 88 Question Id : 60092912866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो शु� श� का सही िवक� है।
Options :
1.  कूशालतापूव�क
2.  कूशालतापुव�क
3.  कूशा�ापुव�क
4.  कुशलतापूव�क
  
Question Number : 89 Question Id : 60092912867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो सही वा� भेद का िवक� है। 

आज मेट� ो बंद रहेगी।
Options :
1.  िवधानवाचक
2.  संकेतवाचक
3.  इ�ावाचक
4.  िनषेधवाचक
  
Question Number : 89 Question Id : 60092912867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो सही वा� भेद का िवक� है। 



आज मेट� ो बंद रहेगी।
Options :
1.  िवधानवाचक
2.  संकेतवाचक
3.  इ�ावाचक
4.  िनषेधवाचक
  
Question Number : 90 Question Id : 60092912868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से,उस िवक� का चयन कर�  जो िदए गए वा� के िलए वृि� के भेद का सबसे अ�ा िवक� हो। 

संभव है आज मेरा िम� आए।
Options :
1.  िन�याथ�क
2.  स�ावनाथ�
3.  आ�ाथ�
4.  संदेहाथ�
  
Question Number : 90 Question Id : 60092912868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए वा� के िलए वृि� के भेद का सबसे अ�ा िवक� हो। 

संभव है आज मेरा िम� आए।
Options :
1.  िन�याथ�क
2.  स�ावनाथ�
3.  आ�ाथ�
4.  संदेहाथ�
  



Question Number : 91 Question Id : 60092912869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से,उस िवक� का चयन कर�  जो िदए गए वा� के िलए प� के भेद का सबसे अ�ा िवक� हो। 

पृ�ी गोल है।
Options :
1.  िन�तावोधक
2.  आरंभ�ोतक
3.  पूण�ता�ोतक
4.  �गित�ोतक
  
Question Number : 91 Question Id : 60092912869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए वा� के िलए प� के भेद का सबसे अ�ा िवक� हो। 

पृ�ी गोल है।
Options :
1.  िन�तावोधक
2.  आरंभ�ोतक
3.  पूण�ता�ोतक
4.  �गित�ोतक
  
Question Number : 92 Question Id : 60092912870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो सही िवराम िच� यु� वा� का िवक� है।
Options :
1.  िनरंतर बढ़ते रहना ही जीवन है ...आल� मौत है ।
2.  िनरंतर बढ़ते रहना ही जीवन है ; आल� मौत है
3.  िनरंतर बढ़ते रहना ही जीवन है ; आल� मौत है ।



4.  िनरंतर बढ़ते रहना ही जीवन है आल� मौत है ।
  
Question Number : 92 Question Id : 60092912870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो सही िवराम िच� यु� वा� का िवक� है।
Options :
1.  िनरंतर बढ़ते रहना ही जीवन है ...आल� मौत है ।
2.  िनरंतर बढ़ते रहना ही जीवन है ; आल� मौत है
3.  िनरंतर बढ़ते रहना ही जीवन है ; आल� मौत है ।
4.  िनरंतर बढ़ते रहना ही जीवन है आल� मौत है ।
  
Question Number : 93 Question Id : 60092912871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए मुहावरे का सही अथ� वाला िवक� हो। 

कफन िसर पर बाँधना -
Options :
1.  िसरदद�  होना
2.  िह�त टूट जाना
3.  वीरगित को �ा� करना
4.  मरने को तैयार रहना
  
Question Number : 93 Question Id : 60092912871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए मुहावरे का सही अथ� वाला िवक� हो। 

कफन िसर पर बाँधना -
Options :
1.  िसरदद�  होना



2.  िह�त टूट जाना
3.  वीरगित को �ा� करना
4.  मरने को तैयार रहना
  
Question Number : 94 Question Id : 60092912872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए मुहावरे का सही अथ� वाला िवक� हो। 

गाल बजाना-
Options :
1.  कुछ असर ना होना
2.  ब�त अिधक बोलना
3.  घना संबंध
4.  डर जाना
  
Question Number : 94 Question Id : 60092912872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए मुहावरे का सही अथ� वाला िवक� हो। 

गाल बजाना-
Options :
1.  कुछ असर ना होना
2.  ब�त अिधक बोलना
3.  घना संबंध
4.  डर जाना
  
Question Number : 95 Question Id : 60092912873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए लोको�� का सही अथ� वाला िवक� हो। 



अँधा �ा चाहे दो आँख� -
Options :
1.  ब�त भीड़ होना
2.  ब�त धन िमलना
3.  अ�ंत ल��त होना
4.  मुहमांगी व�ु िमलना
  
Question Number : 95 Question Id : 60092912873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत �� म�, चार िवक�ो ंम� से, उस िवक� का चयन कर�  जो िदए गए लोको�� का सही अथ� वाला िवक� हो। 

अँधा �ा चाहे दो आँख� -
Options :
1.  ब�त भीड़ होना
2.  ब�त धन िमलना
3.  अ�ंत ल��त होना
4.  मुहमांगी व�ु िमलना
Sub-Section Number : 2
Sub-Section Id : 600929833
Question Shuffling Allowed : Yes
  
Question Id : 60092912874 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (96 to 100)
इस ग�ांश को �ानपूव�क पढ़�  और चार िवक�ो ंम� से ��ेक �� का सव��म उ�र चुन�।

तेरहवी - चौदहवी शता�ी तक भारत म� मु��म स�ा पूरी तरह ��थर हो चुकी थी। अब वह सड़को,ंइमारतो ंआिद के िनमा�ण म� �िच लेने लगी थी। इन िनमा�ण
काय� म� समाज के दुब�ल वग� ने काम िकया िजससे उनकी आिथ�क ��िथ म� सुधार आया। इ�ाम के धँुआधार �चार के कारण िह�दुओ ंम� अपने धम� की सुर�ा
की िचंता �ई। इस ��थित म� दुब�ल वग� को समाज म� �ित�ा िदलाने की तथा िह�दू और इ�ाम के संघष� को िमटने की आव�कता थी। पं�हवी ं- सौलहवी ं



शता�ी का उ�र भारत का भ�� आ�ोलन इसी माँग की उपज था। भ�� की यहाँ लहर दि�ण से उ�र भारत की ओर आई और इसे रामानंद ने जन जन म�
लोकि�य बनाया।
Sub questions
 
Question Number : 96 Question Id : 60092912875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अनु�ेद के अनुसार भारत म� मु��म स�ा कब तक ��थर हो चुकी थी?
Options :
1.  तेरहवी - चौदहवी
2.  बारहवी-तेरहवी
3.  �ारहवी - बारहवी
4.  दसवी शता�दी
 
Question Number : 97 Question Id : 60092912876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िनमा�ण काय� म� िकस वग� को लाभ प�ंचा?
Options :
1.  उ�र भारत को लाभ प�ंचा
2.  मु��म स�ा को लाभ प�ंचा
3.  समाज के उ� वग� के लोगो ंको लाभ प�ंचा
4.  समाज के दुब�ल वग� के लोगो ंको लाभ प�ंचा
 
Question Number : 98 Question Id : 60092912877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भ�� की लहर को उ�र म� िकसने लोकि�य बनाया?
Options :
1.  रामानुज
2.  रामानंद
3.  जायसी



4.  संत तुलसीदास
 
Question Number : 99 Question Id : 60092912878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'दुब�ल' श� का िवलोम िल�खए।
Options :
1.  कम�ठ
2.  िनब�ल
3.  सबल
4.  चु�
 
Question Number : 100 Question Id : 60092912879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस अनु�ेद का कोई उपयु� शीष�क:
Options :
1.  भ�� आ�ोलन
2.  उ�र म� भ��
3.  रामानंद और भ��
4.  िनगु�ण और सगुण भ�� म� अंतर
  
Question Id : 60092912874 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (96 to 100)
इस ग�ांश को �ानपूव�क पढ़�  और चार िवक�ो ंम� से ��ेक �� का सव��म उ�र चुन�।

तेरहवी - चौदहवी शता�ी तक भारत म� मु��म स�ा पूरी तरह ��थर हो चुकी थी। अब वह सड़को,ंइमारतो ंआिद के िनमा�ण म� �िच लेने लगी थी। इन िनमा�ण
काय� म� समाज के दुब�ल वग� ने काम िकया िजससे उनकी आिथ�क ��िथ म� सुधार आया। इ�ाम के धँुआधार �चार के कारण िह�दुओ ंम� अपने धम� की सुर�ा
की िचंता �ई। इस ��थित म� दुब�ल वग� को समाज म� �ित�ा िदलाने की तथा िह�दू और इ�ाम के संघष� को िमटने की आव�कता थी। पं�हवी ं- सौलहवी ं
शता�ी का उ�र भारत का भ�� आ�ोलन इसी माँग की उपज था। भ�� की यहाँ लहर दि�ण से उ�र भारत की ओर आई और इसे रामानंद ने जन जन म�
लोकि�य बनाया।



Sub questions
 
Question Number : 96 Question Id : 60092912875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अनु�ेद के अनुसार भारत म� मु��म स�ा कब तक ��थर हो चुकी थी?
Options :
1.  तेरहवी - चौदहवी
2.  बारहवी-तेरहवी
3.  �ारहवी - बारहवी
4.  दसवी शता�दी
 
Question Number : 97 Question Id : 60092912876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िनमा�ण काय� म� िकस वग� को लाभ प�ंचा?
Options :
1.  उ�र भारत को लाभ प�ंचा
2.  मु��म स�ा को लाभ प�ंचा
3.  समाज के उ� वग� के लोगो ंको लाभ प�ंचा
4.  समाज के दुब�ल वग� के लोगो ंको लाभ प�ंचा
 
Question Number : 98 Question Id : 60092912877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भ�� की लहर को उ�र म� िकसने लोकि�य बनाया?
Options :
1.  रामानुज
2.  रामानंद
3.  जायसी
4.  संत तुलसीदास
 



Question Number : 99 Question Id : 60092912878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'दुब�ल' श� का िवलोम िल�खए।
Options :
1.  कम�ठ
2.  िनब�ल
3.  सबल
4.  चु�
 
Question Number : 100 Question Id : 60092912879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस अनु�ेद का कोई उपयु� शीष�क:
Options :
1.  भ�� आ�ोलन
2.  उ�र म� भ��
3.  रामानंद और भ��
4.  िनगु�ण और सगुण भ�� म� अंतर
  
  

Discipline1
Group Number : 6
Group Id : 600929541
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  



  

Discipline1
Section Id : 600929696
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929834
Question Shuffling Allowed : Yes
  
Question Number : 101 Question Id : 60092912880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'बालाबोिधनी' नामक �ीिश�ा संबंधी पि�का के संपादक कौन थे?
Options :
1.  �ीिनवासदास
2.  रामनरेश ि�पाठी
3.  गौरी द� शु�
4.  भारते�दु ह�र�ंद
  
Question Number : 101 Question Id : 60092912880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'बालाबोिधनी' नामक �ीिश�ा संबंधी पि�का के संपादक कौन थे?
Options :
1.  �ीिनवासदास
2.  रामनरेश ि�पाठी
3.  गौरी द� शु�



4.  भारते�दु ह�र�ंद
  
Question Number : 102 Question Id : 60092912881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन-सा उप�ास डॉ. रांगेय राघव �ारा नही ंिलखा गया है?
Options :
1.  देवकी का बेटा
2.  बंदूक और बीन
3.  भा�वती
4.  प�ी और आकाश
  
Question Number : 102 Question Id : 60092912881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन-सा उप�ास डॉ. रांगेय राघव �ारा नही ंिलखा गया है?
Options :
1.  देवकी का बेटा
2.  बंदूक और बीन
3.  भा�वती
4.  प�ी और आकाश
  
Question Number : 103 Question Id : 60092912882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� कुछ सं�रण व उनके लेखको ंके जोड़े िदए गए ह�, इनम� से गलत िवक� को पहचािनए।
Options :
1.  मील के प�र - रामवृ� बेनीपुरी
2.  चेतना के िब� - महादेवी वमा�
3.  �ादा अपनी कम परायी- अ�
4.  साठ वष� : एक रेखांकन- सुिम�ान�न प�



  
Question Number : 103 Question Id : 60092912882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� कुछ सं�रण व उनके लेखको ंके जोड़े िदए गए ह�, इनम� से गलत िवक� को पहचािनए।
Options :
1.  मील के प�र - रामवृ� बेनीपुरी
2.  चेतना के िब� - महादेवी वमा�
3.  �ादा अपनी कम परायी- अ�
4.  साठ वष� : एक रेखांकन- सुिम�ान�न प�
  
Question Number : 104 Question Id : 60092912883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'कुछ आपबीती कुछ जग बीती' आ�कथा के लेखक कौन ह�?
Options :
1.  भारत�दु ह�र�ं�
2.  गुलाब राय
3.  राज�� �साद
4.  चतुरसेन शा�ी
  
Question Number : 104 Question Id : 60092912883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'कुछ आपबीती कुछ जग बीती' आ�कथा के लेखक कौन ह�?
Options :
1.  भारत�दु ह�र�ं�
2.  गुलाब राय
3.  राज�� �साद
4.  चतुरसेन शा�ी
  



Question Number : 105 Question Id : 60092912884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'िहंदी म� �रपोता�ज' का जनक िकसे माना जाता है?
Options :
1.  उपे�नाथ अ�
2.  िशवदान िसंह चौहान
3.  रामकुमार वमा�
4.  िनम�ल वमा�
  
Question Number : 105 Question Id : 60092912884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'िहंदी म� �रपोता�ज' का जनक िकसे माना जाता है?
Options :
1.  उपे�नाथ अ�
2.  िशवदान िसंह चौहान
3.  रामकुमार वमा�
4.  िनम�ल वमा�
  
Question Number : 106 Question Id : 60092912885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'आथ�र कानन डायल' से िहंदी का कौन-सा उप�ासकार �भािवत �आ?
Options :
1.  आचाय� चतुरसेन
2.  नरे� कोहली
3.  गोपालराम गहमरी
4.  भारत�दु ह�र�ं�
  
Question Number : 106 Question Id : 60092912885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'आथ�र कानन डायल' से िहंदी का कौन-सा उप�ासकार �भािवत �आ?
Options :
1.  आचाय� चतुरसेन
2.  नरे� कोहली
3.  गोपालराम गहमरी
4.  भारत�दु ह�र�ं�
  
Question Number : 107 Question Id : 60092912886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
झबरा कु�े का वण�न �ेमचंद की िकस कहानी म� िकया गया है?
Options :
1.  महातीथ�
2.  घासवाली
3.  नमक का दरोगा
4.  पूस की रात
  
Question Number : 107 Question Id : 60092912886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
झबरा कु�े का वण�न �ेमचंद की िकस कहानी म� िकया गया है?
Options :
1.  महातीथ�
2.  घासवाली
3.  नमक का दरोगा
4.  पूस की रात
  
Question Number : 108 Question Id : 60092912887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
स�ह वष� तक िह�ी की �िस� पि�का सर�ती का स�ादन काय� करने वाले तथा िहंदी नवजागरण म� महान भूिमका िनभाने वाले रचनाकार कौन थे?
Options :
1.  ह�रवंशराय ब�न
2.  भारत�दु
3.  महावीर �साद ि�वेदी
4.  मु��बोध
  
Question Number : 108 Question Id : 60092912887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
स�ह वष� तक िह�ी की �िस� पि�का सर�ती का स�ादन काय� करने वाले तथा िहंदी नवजागरण म� महान भूिमका िनभाने वाले रचनाकार कौन थे?
Options :
1.  ह�रवंशराय ब�न
2.  भारत�दु
3.  महावीर �साद ि�वेदी
4.  मु��बोध
  
Question Number : 109 Question Id : 60092912888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'ि�य �वास' म� िकस रस की �धानता है?
Options :
1.  हा� रस
2.  क�ण रस
3.  रौ� रस
4.  वीभ� रस
  
Question Number : 109 Question Id : 60092912888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



'ि�य �वास' म� िकस रस की �धानता है?
Options :
1.  हा� रस
2.  क�ण रस
3.  रौ� रस
4.  वीभ� रस
  
Question Number : 110 Question Id : 60092912889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� म� से कौन-सा भी� साहनी �ारा रिचत नाटक नही ंहै?
Options :
1.  पैर तले की ज़मीन
2.  माधवी
3.  कबीरा खड़ा बाज़ार म�
4.  मुआवज़े
  
Question Number : 110 Question Id : 60092912889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� म� से कौन-सा भी� साहनी �ारा रिचत नाटक नही ंहै?
Options :
1.  पैर तले की ज़मीन
2.  माधवी
3.  कबीरा खड़ा बाज़ार म�
4.  मुआवज़े
  
Question Number : 111 Question Id : 60092912890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� म� से कौन-सी शेखर जोशी की रचना नही ंहै?



Options :
1.  साथ के लोग
2.  नए प�े
3.  हलवाहा
4.  एक पेड़ की याद
  
Question Number : 111 Question Id : 60092912890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� म� से कौन-सी शेखर जोशी की रचना नही ंहै?
Options :
1.  साथ के लोग
2.  नए प�े
3.  हलवाहा
4.  एक पेड़ की याद
  
Question Number : 112 Question Id : 60092912891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'चीड़ो ंपर चाँदनी' िकसका िनबंध है?
Options :
1.  ममता कािलया
2.  कृ�ा सोबती
3.  िनम�ल वमा�
4.  भी� साहनी
  
Question Number : 112 Question Id : 60092912891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'चीड़ो ंपर चाँदनी' िकसका िनबंध है?
Options :



1.  ममता कािलया
2.  कृ�ा सोबती
3.  िनम�ल वमा�
4.  भी� साहनी
  
Question Number : 113 Question Id : 60092912892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'भा�वती' िकस �कार का उप�ास है?
Options :
1.  सामािजक
2.  �कृित से स�ंिधत
3.  ब�ो ंसे स�ंिधत
4.  ितिल�ी
  
Question Number : 113 Question Id : 60092912892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'भा�वती' िकस �कार का उप�ास है?
Options :
1.  सामािजक
2.  �कृित से स�ंिधत
3.  ब�ो ंसे स�ंिधत
4.  ितिल�ी
  
Question Number : 114 Question Id : 60092912893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"का� जीवन की आलोचना है" यह िकसका कथन है?
Options :
1.  �ोचे



2.  अर�ु
3.  आन��
4.  वड्�सवथ�
  
Question Number : 114 Question Id : 60092912893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"का� जीवन की आलोचना है" यह िकसका कथन है?
Options :
1.  �ोचे
2.  अर�ु
3.  आन��
4.  वड्�सवथ�
  
Question Number : 115 Question Id : 60092912894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'िहंदी उप�ास' के िवकास का वग�करण िकसे क� � म� रखकर िकया गया?
Options :
1.  जयशंकर �साद जी को
2.  गोपालराम गहमरी जी को
3.  आचाय� रामचं� शु� जी को
4.  �ेमचंद जी को
  
Question Number : 115 Question Id : 60092912894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'िहंदी उप�ास' के िवकास का वग�करण िकसे क� � म� रखकर िकया गया?
Options :
1.  जयशंकर �साद जी को
2.  गोपालराम गहमरी जी को



3.  आचाय� रामचं� शु� जी को
4.  �ेमचंद जी को
  
Question Number : 116 Question Id : 60092912895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'सुनंदा जैने�' की िकस कहानी का पा� है?
Options :
1.  ह�ा
2.  प�ी
3.  अपना-अपना भा�
4.  बा�बली
  
Question Number : 116 Question Id : 60092912895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'सुनंदा जैने�' की िकस कहानी का पा� है?
Options :
1.  ह�ा
2.  प�ी
3.  अपना-अपना भा�
4.  बा�बली
  
Question Number : 117 Question Id : 60092912896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'मेरी जीवन या�ा' िकसकी रचना है?
Options :
1.  राम कुमार वमा�
2.  अ�ेय
3.  रा�ल सांकृ�ायन



4.  �भाकर माचवे
  
Question Number : 117 Question Id : 60092912896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'मेरी जीवन या�ा' िकसकी रचना है?
Options :
1.  राम कुमार वमा�
2.  अ�ेय
3.  रा�ल सांकृ�ायन
4.  �भाकर माचवे
  
Question Number : 118 Question Id : 60092912897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'जैने� कुमार' के उप�ास के सही काल�म का िवक� चुिनए।
Options :
1.  �ागप�, परख, सुनीता, क�ाणी
2.  परख, �ागप�, क�ाणी, सुनीता
3.  परख, क�ाणी, सुनीता, �ागप�,
4.  परख, सुनीता, �ागप�, क�ाणी
  
Question Number : 118 Question Id : 60092912897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'जैने� कुमार' के उप�ास के सही काल�म का िवक� चुिनए।
Options :
1.  �ागप�, परख, सुनीता, क�ाणी
2.  परख, �ागप�, क�ाणी, सुनीता
3.  परख, क�ाणी, सुनीता, �ागप�,
4.  परख, सुनीता, �ागप�, क�ाणी



  
Question Number : 119 Question Id : 60092912898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'साकेत' महाका� के रचनाकार कौन ह�?
Options :
1.  जयशंकर �साद
2.  मैिथलीशरण गु�
3.  सुिम�ानंदन पंत
4.  �ीधर पाठक
  
Question Number : 119 Question Id : 60092912898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'साकेत' महाका� के रचनाकार कौन ह�?
Options :
1.  जयशंकर �साद
2.  मैिथलीशरण गु�
3.  सुिम�ानंदन पंत
4.  �ीधर पाठक
  
Question Number : 120 Question Id : 60092912899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अयो�ािसंह उपा�ाय 'ह�रऔध' की िकस रचना म� कृ� महापु�ष की तरह अंिकत �ए ह�?
Options :
1.  रस-कलश
2.  अध�खला फूल
3.  पा�रजात
4.  ि�य �वास
  



Question Number : 120 Question Id : 60092912899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अयो�ािसंह उपा�ाय 'ह�रऔध' की िकस रचना म� कृ� महापु�ष की तरह अंिकत �ए ह�?
Options :
1.  रस-कलश
2.  अध�खला फूल
3.  पा�रजात
4.  ि�य �वास
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Question Shuffling Allowed : Yes
  
Question Number : 121 Question Id : 60092912900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जापानी लोककथा पर आधा�रत किवता कौन सी है?
Options :
1.  अिभशाप
2.  िनशा िनमं�ण
3.  असा� वीणा
4.  झरना
  
Question Number : 121 Question Id : 60092912900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जापानी लोककथा पर आधा�रत किवता कौन सी है?
Options :
1.  अिभशाप
2.  िनशा िनमं�ण
3.  असा� वीणा
4.  झरना
  
Question Number : 122 Question Id : 60092912901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'महाराणा का मह�' िकसकी रचना है?
Options :
1.  भगवतीशरण वमा�
2.  जयशंकर �साद



3.  रामधारी िसंह िदनकर
4.  सुभ�ा कुमारी चौहान
  
Question Number : 122 Question Id : 60092912901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'महाराणा का मह�' िकसकी रचना है?
Options :
1.  भगवतीशरण वमा�
2.  जयशंकर �साद
3.  रामधारी िसंह िदनकर
4.  सुभ�ा कुमारी चौहान
  
Question Number : 123 Question Id : 60092912902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सुिम�ानंदन पंत का का� सं�ह 'प�व' कब �कािशत �आ था?
Options :
1.  सन् १९२८
2.  सन् १९३८
3.  सन् १९३०
4.  सन् १९४०
  
Question Number : 123 Question Id : 60092912902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सुिम�ानंदन पंत का का� सं�ह 'प�व' कब �कािशत �आ था?
Options :
1.  सन् १९२८
2.  सन् १९३८
3.  सन् १९३०



4.  सन् १९४०
  
Question Number : 124 Question Id : 60092912903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'नवीन' उपनाम से कौन से किव �िस� ह�?
Options :
1.  माखनलाल चतुव�दी
2.  बालकृ� शमा� 'नवीन'
3.  �ामसंुदर दास
4.  नंददुलारे वाजपेयी
  
Question Number : 124 Question Id : 60092912903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'नवीन' उपनाम से कौन से किव �िस� ह�?
Options :
1.  माखनलाल चतुव�दी
2.  बालकृ� शमा� 'नवीन'
3.  �ामसंुदर दास
4.  नंददुलारे वाजपेयी
  
Question Number : 125 Question Id : 60092912904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� म� से कौन-सी किवता सूय�कांत ि�पाठी 'िनराला' की नही ंहै?
Options :
1.  अध �खला फूल
2.  सरोज �ृित
3.  बादल राग
4.  राम की श�� पूजा



  
Question Number : 125 Question Id : 60092912904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� म� से कौन-सी किवता सूय�कांत ि�पाठी 'िनराला' की नही ंहै?
Options :
1.  अध �खला फूल
2.  सरोज �ृित
3.  बादल राग
4.  राम की श�� पूजा
  
Question Number : 126 Question Id : 60092912905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
‘वीणा’, ‘उ�वास’ और ‘�ंिथ’ जैसी कोमल कांत पदावली और माधुय� गुण से प�रपूण� रचनाएँ िकस किव की ह�?
Options :
1.  केदारनाथ िसंह
2.  सेनापित
3.  सुिम�ानंदन पंत
4.  जयशंकर �साद िनराला
  
Question Number : 126 Question Id : 60092912905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
‘वीणा’, ‘उ�वास’ और ‘�ंिथ’ जैसी कोमल कांत पदावली और माधुय� गुण से प�रपूण� रचनाएँ िकस किव की ह�?
Options :
1.  केदारनाथ िसंह
2.  सेनापित
3.  सुिम�ानंदन पंत
4.  जयशंकर �साद िनराला
  



Question Number : 127 Question Id : 60092912906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'मंजीर' का� सं�ह के रचियता कौन ह�?
Options :
1.  भवानी �साद िम�
2.  िग�रजाकुमार माथुर
3.  श�ुनाथ िसंह
4.  भारत�दु ह�र�ं�
  
Question Number : 127 Question Id : 60092912906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'मंजीर' का� सं�ह के रचियता कौन ह�?
Options :
1.  भवानी �साद िम�
2.  िग�रजाकुमार माथुर
3.  श�ुनाथ िसंह
4.  भारत�दु ह�र�ं�
  
Question Number : 128 Question Id : 60092912907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत�दु जी ने अपनी किवता 'गंगा वण�न' म� िकसका प�रचय िदया है?
Options :
1.  गाँवो ंका
2.  �कृित िच�ण का
3.  सामािजक वातावरण का
4.  �ं� का
  
Question Number : 128 Question Id : 60092912907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत�दु जी ने अपनी किवता 'गंगा वण�न' म� िकसका प�रचय िदया है?
Options :
1.  गाँवो ंका
2.  �कृित िच�ण का
3.  सामािजक वातावरण का
4.  �ं� का
  
Question Number : 129 Question Id : 60092912908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'भारत भारती' के रचनाकार कौन ह�?
Options :
1.  महादेवी वमा�
2.  जैने� कुमार
3.  मैिथलीशरण गु�
4.  भी� साहनी
  
Question Number : 129 Question Id : 60092912908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'भारत भारती' के रचनाकार कौन ह�?
Options :
1.  महादेवी वमा�
2.  जैने� कुमार
3.  मैिथलीशरण गु�
4.  भी� साहनी
  
Question Number : 130 Question Id : 60092912909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
िकस रचनाकार ने अपना ज�िदन वसंत पंचमी के िदन मनाना घोिषत िकया?
Options :
1.  सुिम�ानंदन पंत
2.  जयशंकर �साद
3.  सूय�का� ि�पाठी 'िनराला' 
4.  ह�रवंशराय ब�न
  
Question Number : 130 Question Id : 60092912909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस रचनाकार ने अपना ज�िदन वसंत पंचमी के िदन मनाना घोिषत िकया?
Options :
1.  सुिम�ानंदन पंत
2.  जयशंकर �साद
3.  सूय�का� ि�पाठी 'िनराला' 
4.  ह�रवंशराय ब�न
  
Question Number : 131 Question Id : 60092912910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"वह इ� देव के मंिदर की पूजा-सी, वह दीप िशखा-सी शांत भाव म� लीन वह टूटे तारो ंकी छूटी लता-सी दीन, दिलत भारत की िवधवा है।" िकस किव की पं��याँ
ह�?
Options :
1.  जयशंकर �साद
2.  सूय�कांत ि�पाठी 'िनराला'
3.  सुिम�ानंदन पंत
4.  रामधारी िसंह 'िदनकर'
  
Question Number : 131 Question Id : 60092912910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
"वह इ� देव के मंिदर की पूजा-सी, वह दीप िशखा-सी शांत भाव म� लीन वह टूटे तारो ंकी छूटी लता-सी दीन, दिलत भारत की िवधवा है।" िकस किव की पं��याँ
ह�?
Options :
1.  जयशंकर �साद
2.  सूय�कांत ि�पाठी 'िनराला'
3.  सुिम�ानंदन पंत
4.  रामधारी िसंह 'िदनकर'
  
Question Number : 132 Question Id : 60092912911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'नीहार' तथा 'र��' का� सं�ह िकस रचनाकार के ह�?
Options :
1.  महादेवी वमा�
2.  सुभ�ाकुमारी चौहान
3.  सोहनलाल ि�वेदी
4.  िसयारामशरण गु�
  
Question Number : 132 Question Id : 60092912911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'नीहार' तथा 'र��' का� सं�ह िकस रचनाकार के ह�?
Options :
1.  महादेवी वमा�
2.  सुभ�ाकुमारी चौहान
3.  सोहनलाल ि�वेदी
4.  िसयारामशरण गु�
  
Question Number : 133 Question Id : 60092912912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
��� गीत िकसका का� सं�ह है?
Options :
1.  अयो�ा िसंह उपा�ाय 'ह�रऔध'
2.  रामधारी िसंह 'िदनकर'
3.  माखनलाल चतुव�दी
4.  भारत�दु ह�र�ं�
  
Question Number : 133 Question Id : 60092912912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
��� गीत िकसका का� सं�ह है?
Options :
1.  अयो�ा िसंह उपा�ाय 'ह�रऔध'
2.  रामधारी िसंह 'िदनकर'
3.  माखनलाल चतुव�दी
4.  भारत�दु ह�र�ं�
  
Question Number : 134 Question Id : 60092912913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
धम�दास िकसके िश� थे?
Options :
1.  तुलसीदास
2.  गु�नानक देव
3.  सूरदास
4.  कबीर
  
Question Number : 134 Question Id : 60092912913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



धम�दास िकसके िश� थे?
Options :
1.  तुलसीदास
2.  गु�नानक देव
3.  सूरदास
4.  कबीर
  
Question Number : 135 Question Id : 60092912914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� म� से कौन-सी केशवदास जी की रचना नही ंहै?
Options :
1.  जहाँगीर जसचंि�का
2.  नखिशख
3.  देव माया �वंच
4.  वीरिसंहदेव च�रत
  
Question Number : 135 Question Id : 60092912914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� म� से कौन-सी केशवदास जी की रचना नही ंहै?
Options :
1.  जहाँगीर जसचंि�का
2.  नखिशख
3.  देव माया �वंच
4.  वीरिसंहदेव च�रत
  
Question Number : 136 Question Id : 60092912915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"म� क�ना के स� को सबसे बड़ा स� मानता �ँ।" िकसके िवचार ह�?



Options :
1.  आचाय� कंुतक
2.  सुिम�ानंदन पंत
3.  रामिवलास शमा�
4.  �ीिनवास दास
  
Question Number : 136 Question Id : 60092912915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"म� क�ना के स� को सबसे बड़ा स� मानता �ँ।" िकसके िवचार ह�?
Options :
1.  आचाय� कंुतक
2.  सुिम�ानंदन पंत
3.  रामिवलास शमा�
4.  �ीिनवास दास
  
Question Number : 137 Question Id : 60092912916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन-सा सोहनलाल ि�वेदी का का� सं�ह नही ंहै?
Options :
1.  भैरवी
2.  आ�ा�
3.  पूजागीत सेवा�ाम
4.  दूधबताशा
  
Question Number : 137 Question Id : 60092912916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत म� से कौन-सा सोहनलाल ि�वेदी का का� सं�ह नही ंहै?
Options :



1.  भैरवी
2.  आ�ा�
3.  पूजागीत सेवा�ाम
4.  दूधबताशा
  
Question Number : 138 Question Id : 60092912917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस किव के बचपन का नाम रामबोला था?
Options :
1.  कबीर
2.  रैदास
3.  तुलसीदास
4.  नंददास
  
Question Number : 138 Question Id : 60092912917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस किव के बचपन का नाम रामबोला था?
Options :
1.  कबीर
2.  रैदास
3.  तुलसीदास
4.  नंददास
  
Question Number : 139 Question Id : 60092912918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िहंदी का संबंध िकस भाषा प�रवार से है?
Options :
1.  भारोपीय प�रवार से



2.  एिशयाई प�रवार से
3.  आ�� ेिलया प�रवार से
4.  �ै��यन प�रवार से
  
Question Number : 139 Question Id : 60092912918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िहंदी का संबंध िकस भाषा प�रवार से है?
Options :
1.  भारोपीय प�रवार से
2.  एिशयाई प�रवार से
3.  आ�� ेिलया प�रवार से
4.  �ै��यन प�रवार से
  
Question Number : 140 Question Id : 60092912919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत म� आय� भाषा का आरंभ कब �आ है?
Options :
1.  1300 ई. पूव� के आसपास
2.  1600 ई. पूव� के आसपास
3.  1400 ई. पूव� के आसपास
4.  1500 ई. पूव� के आसपास
  
Question Number : 140 Question Id : 60092912919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारत म� आय� भाषा का आरंभ कब �आ है?
Options :
1.  1300 ई. पूव� के आसपास
2.  1600 ई. पूव� के आसपास



3.  1400 ई. पूव� के आसपास
4.  1500 ई. पूव� के आसपास
  
  

Discipline3
Group Number : 8
Group Id : 600929543
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

Discipline3
Section Id : 600929698
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929836
Question Shuffling Allowed : Yes
  
Question Number : 141 Question Id : 60092912920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



आधुिनक भारतीय आय� भाषाओ ंका िवकास िकससे �आ है?
Options :
1.  मागधी से
2.  �िवड़ से
3.  अप�ंश से
4.  रोमन से
  
Question Number : 141 Question Id : 60092912920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
आधुिनक भारतीय आय� भाषाओ ंका िवकास िकससे �आ है?
Options :
1.  मागधी से
2.  �िवड़ से
3.  अप�ंश से
4.  रोमन से
  
Question Number : 142 Question Id : 60092912921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भाषा का िनमा�ण होता है:
Options :
1.  मौन �िनयो ंसे
2.  �� �िनयो ंसे
3.  अ�� �िनयो ंसे
4.  मूक �िनयो ंसे
  
Question Number : 142 Question Id : 60092912921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भाषा का िनमा�ण होता है:



Options :
1.  मौन �िनयो ंसे
2.  �� �िनयो ंसे
3.  अ�� �िनयो ंसे
4.  मूक �िनयो ंसे
  
Question Number : 143 Question Id : 60092912922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
खड़ी बोली िहंदी का उ�व िकस अप�ंश से �आ है?
Options :
1.  अध�मागधी
2.  मागधी
3.  पैशाची
4.  शौरसेनी
  
Question Number : 143 Question Id : 60092912922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
खड़ी बोली िहंदी का उ�व िकस अप�ंश से �आ है?
Options :
1.  अध�मागधी
2.  मागधी
3.  पैशाची
4.  शौरसेनी
  
Question Number : 144 Question Id : 60092912923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िहंदी श� का संबंध सं�ृत के िकस श� से जाना जाता है?
Options :



1.  िबंदु
2.  इंदु
3.  िसंधु
4.  िह�वी
  
Question Number : 144 Question Id : 60092912923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िहंदी श� का संबंध सं�ृत के िकस श� से जाना जाता है?
Options :
1.  िबंदु
2.  इंदु
3.  िसंधु
4.  िह�वी
  
Question Number : 145 Question Id : 60092912924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सं�ृत के त�म श�ो ंके िहंदी म� प�रवित�त �प को �ा कहते ह�?
Options :
1.  तदभव
2.  देशज
3.  �ढ़
4.  संयु�
  
Question Number : 145 Question Id : 60092912924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
सं�ृत के त�म श�ो ंके िहंदी म� प�रवित�त �प को �ा कहते ह�?
Options :
1.  तदभव



2.  देशज
3.  �ढ़
4.  संयु�
  
Question Number : 146 Question Id : 60092912925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िहंदी की बोिलयाँ िकतनी ह�?
Options :
1.  20
2.  15
3.  17
4.  18
  
Question Number : 146 Question Id : 60092912925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िहंदी की बोिलयाँ िकतनी ह�?
Options :
1.  20
2.  15
3.  17
4.  18
  
Question Number : 147 Question Id : 60092912926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अध�मागधी से िनकली आधुिनक भाषा कौनसी है?
Options :
1.  िपशाची
2.  पूव� िहंदी



3.  मराठी
4.  मागधी
  
Question Number : 147 Question Id : 60092912926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अध�मागधी से िनकली आधुिनक भाषा कौनसी है?
Options :
1.  िपशाची
2.  पूव� िहंदी
3.  मराठी
4.  मागधी
  
Question Number : 148 Question Id : 60092912927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय सिवधान म� िकस िलिप को रा�� ीय िलिप की मा�ता दी गई है?
Options :
1.  गु�मुखी िलिप
2.  देवनागरी िलिप
3.  िसंधु िलिप
4.  गु� िलिप
  
Question Number : 148 Question Id : 60092912927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भारतीय सिवधान म� िकस िलिप को रा�� ीय िलिप की मा�ता दी गई है?
Options :
1.  गु�मुखी िलिप
2.  देवनागरी िलिप
3.  िसंधु िलिप



4.  गु� िलिप
  
Question Number : 149 Question Id : 60092912928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
दि�ण भारत म� देवानगरी िलिप के �चार का समय �ा था?
Options :
1.  इशा की आठवी ंसदी
2.  इशा की दसवी ंसदी
3.  इशा की बारहवी सदी
4.  इशा की सातवी ंसदी
  
Question Number : 149 Question Id : 60092912928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
दि�ण भारत म� देवानगरी िलिप के �चार का समय �ा था?
Options :
1.  इशा की आठवी ंसदी
2.  इशा की दसवी ंसदी
3.  इशा की बारहवी सदी
4.  इशा की सातवी ंसदी
  
Question Number : 150 Question Id : 60092912929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
देवनागरी िलिप के श� के ऊपर एक रेखा �खंची होती है। उसे �ा कहते ह�?
Options :
1.  ितरछी रेखा
2.  िशरोरेखा
3.  सरल रेखा
4.  अध�वृ�ाकार



  
Question Number : 150 Question Id : 60092912929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
देवनागरी िलिप के श� के ऊपर एक रेखा �खंची होती है। उसे �ा कहते ह�?
Options :
1.  ितरछी रेखा
2.  िशरोरेखा
3.  सरल रेखा
4.  अध�वृ�ाकार
  
Question Number : 151 Question Id : 60092912930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
देवनागरी िलिप का िवकास िकस िलिप से �आ है?

Note: For this question, discrepancy is found in question/answer. So,this
question is ignored for all candidates.
Options :
1. �ा�ी िलिप से
2. िच� िलिप से
3. कुिटल िलिप से
4. खरो�ी िलिप से
  
Question Number : 151 Question Id : 60092912930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
देवनागरी िलिप का िवकास िकस िलिप से �आ है?

Note: For this question, discrepancy is found in question/answer. So,this
question is ignored for all candidates.



Options :
1. �ा�ी िलिप से
2. िच� िलिप से
3. कुिटल िलिप से
4. खरो�ी िलिप से
  
Question Number : 152 Question Id : 60092912931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस िलिप को पिव�ा�र या बीजा�र भी कहते ह�?
Options :
1.  फारसी िलिप
2.  दि�णी सामी िलिप
3.  देवनागरी िलिप
4.  हीरो�ोइिफक िलिप
  
Question Number : 152 Question Id : 60092912931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
इस िलिप को पिव�ा�र या बीजा�र भी कहते ह�?
Options :
1.  फारसी िलिप
2.  दि�णी सामी िलिप
3.  देवनागरी िलिप
4.  हीरो�ोइिफक िलिप
  
Question Number : 153 Question Id : 60092912932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अ' की बारहखड़ी 'देवनागरी िलिप सुधार सिमित' ने अ�ीकृत कर दी। इस सिमित के अ�� कौन थे?
Options :



1.  आचाय� नरे� देव
2.  डॉ�र राजे� �साद
3.  िवनोबा भावे
4.  सुिम�ा नंदन पंथ
  
Question Number : 153 Question Id : 60092912932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अ' की बारहखड़ी 'देवनागरी िलिप सुधार सिमित' ने अ�ीकृत कर दी। इस सिमित के अ�� कौन थे?
Options :
1.  आचाय� नरे� देव
2.  डॉ�र राजे� �साद
3.  िवनोबा भावे
4.  सुिम�ा नंदन पंथ
  
Question Number : 154 Question Id : 60092912933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ा�ी िलिप की उ�ि� चीनी िलिप से �ई है ,ऐसा िकस िव�ान का िव�ास है ?
Options :
1.  �� च िव�ान कुपेरी
2.  डॉ�र अ��ेड मूलर
3.  गौरी शंकर ओझा
4.  डॉ�र .�िजलु�ी
  
Question Number : 154 Question Id : 60092912933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�ा�ी िलिप की उ�ि� चीनी िलिप से �ई है, ऐसा िकस िव�ान का िव�ास है?
Options :
1.  �� च िव�ान कुपेरी



2.  डॉ�र अ��ेड मूलर
3.  गौरी शंकर ओझा
4.  डॉ�र .�िजलु�ी
  
Question Number : 155 Question Id : 60092912934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कौनसे बादशाह ने अपनी राजमु�ाओ ंपर देवनागरी िलिप को समुिचत �थान िदया था?
Options :
1.  बहादुर शाह ज़फर
2.  औरंगजेब
3.  अकबर
4.  शेरशाह सूरी
  
Question Number : 155 Question Id : 60092912934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कौनसे बादशाह ने अपनी राजमु�ाओ ंपर देवनागरी िलिप को समुिचत �थान िदया था?
Options :
1.  बहादुर शाह ज़फर
2.  औरंगजेब
3.  अकबर
4.  शेरशाह सूरी
  
Question Number : 156 Question Id : 60092912935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कं�ूटर युग म� देवनागरी के िलए िविभ� फोटंो ंका �योग िकया गया है िज�� अब िकस फॉ� के �प म� जाना जाता है?
Options :
1.  एलजी�रयान फॉ�
2.  कािल�ी फॉ�



3.  िलगेसी फॉ�
4.  अ�रयल फॉ�
  
Question Number : 156 Question Id : 60092912935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कं�ूटर युग म� देवनागरी के िलए िविभ� फोटंो ंका �योग िकया गया है िज�� अब िकस फॉ� के �प म� जाना जाता है?
Options :
1.  एलजी�रयान फॉ�
2.  कािल�ी फॉ�
3.  िलगेसी फॉ�
4.  अ�रयल फॉ�
  
Question Number : 157 Question Id : 60092912936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे िदए गए श� का सही संिध-िव�ेद वाला िवक� पहचािनए? 

अंत�ा�न
Options :
1.  अंतर + �ान
2.  अंतः  + �ान
3.  अंत + �ान
4.  अंतध� + यान
  
Question Number : 157 Question Id : 60092912936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे िदए गए श� का सही संिध-िव�ेद वाला िवक� पहचािनए? 

अंत�ा�न
Options :



1.  अंतर + �ान
2.  अंतः  + �ान
3.  अंत + �ान
4.  अंतध� + यान
  
Question Number : 158 Question Id : 60092912937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे िदए गए श�ो ंका सही संिध वाला िवक� पहचािनए? 

दुः  + साहस
Options :
1.  दुसाहस
2.  दुहसाहस
3.  दूसहस
4.  दु�ाहस
  
Question Number : 158 Question Id : 60092912937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे िदए गए श�ो ंका सही संिध वाला िवक� पहचािनए? 

दुः  + साहस
Options :
1.  दुसाहस
2.  दुहसाहस
3.  दूसहस
4.  दु�ाहस
  
Question Number : 159 Question Id : 60092912938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए श� का पया�यवाची श� नही ंहै।

अखंड
Options :
1.  अिवभ�
2.  अ�य
3.  समूचा
4.  अनंत
  
Question Number : 159 Question Id : 60092912938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए श� का पया�यवाची श� नही ंहै।

अखंड
Options :
1.  अिवभ�
2.  अ�य
3.  समूचा
4.  अनंत
  
Question Number : 160 Question Id : 60092912939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए श� का िवलोम श� है।

आलोक
Options :
1.  िवभा
2.  काँित
3.  ितिमर
4.  अन�



  
Question Number : 160 Question Id : 60092912939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए श� का िवलोम श� है।

आलोक
Options :
1.  िवभा
2.  काँित
3.  ितिमर
4.  अन�
  
  

Discipline4
Group Number : 9
Group Id : 600929544
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
  
  

Discipline4
Section Id : 600929699
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20



Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929837
Question Shuffling Allowed : Yes
  
Question Number : 161 Question Id : 60092912940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए श� का एकाथ� श� है।

आिध
Options :
1.  वा��
2.  मानिसक रोग
3.  िश�ा
4.  शारी�रक रोग
  
Question Number : 161 Question Id : 60092912940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए श� का एकाथ� श� है।

आिध
Options :
1.  वा��
2.  मानिसक रोग
3.  िश�ा
4.  शारी�रक रोग
  
Question Number : 162 Question Id : 60092912941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए श� यु� के सही अथ� वाला िवक� है।

पु�र-पु�ल
Options :
1.  किठन-ब�त
2.  ब�त-आसान
3.  जलाशय-ब�त
4.  सर�ती- ब�त
  
Question Number : 162 Question Id : 60092912941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए श� यु� के सही अथ� वाला िवक� है।

पु�र-पु�ल
Options :
1.  किठन-ब�त
2.  ब�त-आसान
3.  जलाशय-ब�त
4.  सर�ती- ब�त
  
Question Number : 163 Question Id : 60092912942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कर�  जो उपसग� से बने श� का सही िवक� नही ंहै।
Options :
1.  �ाता
2.  उपा��
3.  िवदेश
4.  �ताप



  
Question Number : 163 Question Id : 60092912942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कर�  जो उपसग� से बने श� का सही िवक� नही ंहै।
Options :
1.  �ाता
2.  उपा��
3.  िवदेश
4.  �ताप
  
Question Number : 164 Question Id : 60092912943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए सम�पद के सही अ�यीभाव समास का िवक� है।

यथासा�
Options :
1.  न साधने यो�
2.  िजतना साधा जा सके
3.  साधने के िलए
4.  यथा का सा�
  
Question Number : 164 Question Id : 60092912943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए सम�पद के सही अ�यीभाव समास का िवक� है।

यथासा�
Options :
1.  न साधने यो�
2.  िजतना साधा जा सके



3.  साधने के िलए
4.  यथा का सा�
  
Question Number : 165 Question Id : 60092912944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कर�  जो ��य से बने श� का सही िवक� नही ंहै।
Options :
1.  पु��त
2.  मनौती
3.  िनद�ष
4.  ललक
  
Question Number : 165 Question Id : 60092912944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कर�  जो ��य से बने श� का सही िवक� नही ंहै।
Options :
1.  पु��त
2.  मनौती
3.  िनद�ष
4.  ललक
  
Question Number : 166 Question Id : 60092912945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'खटोला' श� म� कौन-सा ��य है?
Options :
1.  ओला
2.  आ
3.  ला



4.  अ
  
Question Number : 166 Question Id : 60092912945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
'खटोला' श� म� कौन-सा ��य है?
Options :
1.  ओला
2.  आ
3.  ला
4.  अ
  
Question Number : 167 Question Id : 60092912946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन करे जो 'पुनः ' उपसग� से बना सही श� है।
Options :
1.  पुरातन
2.  पुनज�वन
3.  पुर�ार
4.  �ितयोिगता
  
Question Number : 167 Question Id : 60092912946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन करे जो 'पुनः ' उपसग� से बना सही श� है।
Options :
1.  पुरातन
2.  पुनज�वन
3.  पुर�ार
4.  �ितयोिगता



  
Question Number : 168 Question Id : 60092912947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो भाववाचक सं�ा का सही िवक� नही ंहै।
Options :
1.  मनु�ता
2.  घटाव
3.  शीतल
4.  सुखदायी
  
Question Number : 168 Question Id : 60092912947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो भाववाचक सं�ा का सही िवक� नही ंहै।
Options :
1.  मनु�ता
2.  घटाव
3.  शीतल
4.  सुखदायी
  
Question Number : 169 Question Id : 60092912948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो म�म पु�ष वाचक सव�नाम का सही िवक� है।
Options :
1.  हम�
2.  वे
3.  मुझे
4.  तु�ारे
  



Question Number : 169 Question Id : 60092912948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो म�म पु�ष वाचक सव�नाम का सही िवक� है।
Options :
1.  हम�
2.  वे
3.  मुझे
4.  तु�ारे
  
Question Number : 170 Question Id : 60092912949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए वा� के अनुसार िवशेषण के भेद का सही िवक� हो। 

मेरे सूट म� (साढ़े तीन मीटर) कपड़ा लगेगा।
Options :
1.  िनि�त प�रमाणवाचक िवशेषण
2.  गुणवाचक िवशेषण
3.  अिनि�त प�रमाणवाचक िवशेषण
4.  सं�ावाचक िवशेषण
  
Question Number : 170 Question Id : 60092912949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो िदए गए वा� के अनुसार िवशेषण के भेद का सही िवक� हो। 

मेरे सूट म� (साढ़े तीन मीटर) कपड़ा लगेगा।
Options :
1.  िनि�त प�रमाणवाचक िवशेषण
2.  गुणवाचक िवशेषण
3.  अिनि�त प�रमाणवाचक िवशेषण



4.  सं�ावाचक िवशेषण
  
Question Number : 171 Question Id : 60092912950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो जाितवाचक सं�ा का सही िवक� है।
Options :
1.  पंकज
2.  गोदान
3.  कोिहनूर
4.  मनु�
  
Question Number : 171 Question Id : 60092912950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से उस िवक� का चयन कीिजए जो जाितवाचक सं�ा का सही िवक� है।
Options :
1.  पंकज
2.  गोदान
3.  कोिहनूर
4.  मनु�
  
Question Number : 172 Question Id : 60092912951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत िवक�ो ंम� संकेतवाचक वा� का सही िवक� चुिनए।
Options :
1.  आज मेरा मन कुछ अ�ा खाने का है।
2.  यिद तुम सही समय पर इलाज करते तो ज�ी ठीक हो जाते।
3.  कृपया अपनी मदद �यं क�रए।
4.  माली ने आज पौधो ंको पानी नही ंिदया।



  
Question Number : 172 Question Id : 60092912951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन�िल�खत िवक�ो ंम� संकेतवाचक वा� का सही िवक� चुिनए।
Options :
1.  आज मेरा मन कुछ अ�ा खाने का है।
2.  यिद तुम सही समय पर इलाज करते तो ज�ी ठीक हो जाते।
3.  कृपया अपनी मदद �यं क�रए।
4.  माली ने आज पौधो ंको पानी नही ंिदया।
  
Question Number : 173 Question Id : 60092912952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से संयु� वा� को पहचािनए।
Options :
1.  रमेश ने काम ख़� िकया और वह अपने घर चला गया।
2.  मीता नए कपड़े लेकर आई है।
3.  वह शायद अभी तक नही ंप�ँचा।
4.  म� भी आपके जैसे डॉ�र बनना चाहता �ँ।
  
Question Number : 173 Question Id : 60092912952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से संयु� वा� को पहचािनए।
Options :
1.  रमेश ने काम ख़� िकया और वह अपने घर चला गया।
2.  मीता नए कपड़े लेकर आई है।
3.  वह शायद अभी तक नही ंप�ँचा।
4.  म� भी आपके जैसे डॉ�र बनना चाहता �ँ।
  



Question Number : 174 Question Id : 60092912953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से िम� वा� को पहचािनए।
Options :
1.  शायद वह मान जाएगी।
2.  गािड़याँ ब�त तेज़ चल रही है।
3.  वह घर से िनकला था पर�ु वापस लौट गया।
4.  आज यिद बा�रश हो तो तुम यही ं�क जाना।
  
Question Number : 174 Question Id : 60092912953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िन� िवक�ो ंम� से िम� वा� को पहचािनए।
Options :
1.  शायद वह मान जाएगी।
2.  गािड़याँ ब�त तेज़ चल रही है।
3.  वह घर से िनकला था पर�ु वापस लौट गया।
4.  आज यिद बा�रश हो तो तुम यही ं�क जाना।
  
Question Number : 175 Question Id : 60092912954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे िदए गए वा� के सही वा� भेद को पहचािनए।

हमने पानी बरसता �आ देखा और घर म� शरण ली।
Options :
1.  िम� वा�
2.  संयु� वा�
3.  सरल वा�
4.  इ�ावाचक वा�



  
Question Number : 175 Question Id : 60092912954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे िदए गए वा� के सही वा� भेद को पहचािनए।

हमने पानी बरसता �आ देखा और घर म� शरण ली।
Options :
1.  िम� वा�
2.  संयु� वा�
3.  सरल वा�
4.  इ�ावाचक वा�
  
Question Number : 176 Question Id : 60092912955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"संसार की समर �थली म� धीरता धारण करो" इस पं�� म� कौन-सा अलंकार है?
Options :
1.  िव�ा अलंकार
2.  अनु�ास अलंकार
3.  �ेष अलंकार
4.  यमक अलंकार
  
Question Number : 176 Question Id : 60092912955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"संसार की समर �थली म� धीरता धारण करो" इस पं�� म� कौन-सा अलंकार है?
Options :
1.  िव�ा अलंकार
2.  अनु�ास अलंकार
3.  �ेष अलंकार



4.  यमक अलंकार
  
Question Number : 177 Question Id : 60092912956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जहाँ िकसी व�ु का इतना बढ़ा-चढ़ाकर वण�न िकया जाए िक सामा� लोक सीमा का उ�ंघन हो वहाँ कौन-सा अलंकार होता है?
Options :
1.  उ�े�ा अलंकार
2.  �पक अलंकार
3.  अित�ो�� अलंकार
4.  उपमा अलंकार
  
Question Number : 177 Question Id : 60092912956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जहाँ िकसी व�ु का इतना बढ़ा-चढ़ाकर वण�न िकया जाए िक सामा� लोक सीमा का उ�ंघन हो वहाँ कौन-सा अलंकार होता है?
Options :
1.  उ�े�ा अलंकार
2.  �पक अलंकार
3.  अित�ो�� अलंकार
4.  उपमा अलंकार
  
Question Number : 178 Question Id : 60092912957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जब कोई श� अपने मु�ाथ� को बािधत करके अ� अथ� को बताए तब उसम� कौन-सी श� श�� होती है?
Options :
1.  �ंजना श� श��
2.  अिभधा श� श��
3.  आथ� �ंजना श� श��
4.  ल�णा श� श��



  
Question Number : 178 Question Id : 60092912957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
जब कोई श� अपने मु�ाथ� को बािधत करके अ� अथ� को बताए तब उसम� कौन-सी श� श�� होती है?
Options :
1.  �ंजना श� श��
2.  अिभधा श� श��
3.  आथ� �ंजना श� श��
4.  ल�णा श� श��
  
Question Number : 179 Question Id : 60092912958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे िदए गए वा� म� कौन-सी श� श�� है? 

मोहन पढ़ रहा है।
Options :
1.  ल�णा श��
2.  अिभधा श��
3.  �ंजना श��
4.  �योजनवती ल�णा
  
Question Number : 179 Question Id : 60092912958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नीचे िदए गए वा� म� कौन-सी श� श�� है? 

मोहन पढ़ रहा है।
Options :
1.  ल�णा श��
2.  अिभधा श��



3.  �ंजना श��
4.  �योजनवती ल�णा
  
Question Number : 180 Question Id : 60092912959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"सीधी चलते राह जो, रहते सदा िनशंक।
जो करते िव�व, उ��, ‘ह�र’ का है आतंक।।" इस पं�� म� कौन-सा अलंकार है?
Options :
1.  �ेष अलंकार
2.  िवरोधाभाष अलंकार
3.  पुन��� अलंकार
4.  �ांितमान अलंकार
  
Question Number : 180 Question Id : 60092912959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
"सीधी चलते राह जो, रहते सदा िनशंक।
जो करते िव�व, उ��, ‘ह�र’ का है आतंक।।" इस पं�� म� कौन-सा अलंकार है?
Options :
1.  �ेष अलंकार
2.  िवरोधाभाष अलंकार
3.  पुन��� अलंकार
4.  �ांितमान अलंकार
  
  

Discipline5
Group Number : 10
Group Id : 600929545
Group Maximum Duration : 0
Group Minimum Duration : 0



Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No
  
  

Discipline5
Section Id : 600929700
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929838
Question Shuffling Allowed : Yes
  
Question Id : 60092912960 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (181 to 185)
िन�िल�खत अवतरण को �ानपूव�क पिढ़ए और उससे स�ंिधत ��ो ंके िदए गए ब�िवक�ो ंम� से सही िवक� को चुिनए। 

आज की भागती दौड़ती िज�गी से मु�राहट तो न जाने कहाँ खो गई है। कुछ दशक पहले तक तो लोग एक-दूसरे को देखते ही एक संुदर सी मु�राहट के
साथ अिभवादन करते थे, िक�ु आज दशा यह है िक िकसी पहचान वाले को देखते ही ��ता को मुखौटा लगाकर अिभवादन की �ि�या से �यं को बचाकर
सुरि�त िनकलना ही बहादुरी का काय� समझते ह�। जबिक मु�राहट एक ऐसी औषिध है जो मनु� को िबना िकसी दाम के िमली है, यह उसके शारी�रक एवं
मानिसक रोगो ंका उपचार करने म� पूण�तः  स�म है। जो ��� मु�राकर िदन की शु�आत करता है वह िन�य ही सारे िदन ऊजा�वान रहता है, वह िबना िकसी
तनाव के सारे काय� कुशलता से पूण� कर पुनः  अगले िदन के िलए नए काय� को पूरा करने की कुशल रणनीित बना, िनि�� हो सो जाता है। ऐसे ��� का
सािन� सभी लोग चाहते ह�, उसकी एक छोटी सी मु�राहट के कारण �ादा से �ादा लोग उसके समीप आने का �यास करते ह�। ठीक इसके िवपरीत
अनायास ही खीजने वाले ��� से हर कोई दूरी बनाना पसंद करता है, हर कोई उससे बचना चाहता है। पुरानी कहावत है िक �स� वदन के दश�न मा� से ही
सम� काय� पूण� हो जाते ह�, अतः  हमारा �यास होना चािहए िक �यं �स� रहकर दूसरो ंको भी खुिशयाँ बांटे।



Sub questions
 
Question Number : 181 Question Id : 60092912961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अनु�ेद के अनुसार आज के समय म� िकसी पहचान वाले को देखते ही लोग �ा करते ह�?
Options :
1.  हँसी-ख़ुशी बात� करते ह�
2.  आदर-स�ार करते ह�
3.  ��ता का मुखौटा लगाकर िनकल जाते ह�
4.  �� होने के बावजूद िमलते है
 
Question Number : 182 Question Id : 60092912962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अनु�ेद म� जीवन की िकस अनमोल औषिध के बारे म� बताया गया है?
Options :
1.  ऊजा�वान
2.  अिभवादन
3.  ��ता
4.  मु�राहट
 
Question Number : 183 Question Id : 60092912963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कैसे ���यो ंसे लोग िमलना पसंद नही ंकरते?
Options :
1.  जो हर व� िमले
2.  जो हमेशा पीछे पड़ता रहे
3.  जो हर बात पर झंुझला जाए
4.  जो हमेशा ख़ुशी-ख़ुशी िमले
 



Question Number : 184 Question Id : 60092912964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए िवक�ो ंम� से कौन-सा दशा का समानाथ� श� है?
Options :
1.  िदशा
2.  ��थित
3.  िदखावा
4.  शािमल
 
Question Number : 185 Question Id : 60092912965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए अनु�ेद का सटीक शीष�क िल�खए।
Options :
1.  मु�राहट
2.  �� िज़�गी
3.  तनाव पूण� वातावरण
4.  खीजने वाले ���
  
Question Id : 60092912960 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (181 to 185)
िन�िल�खत अवतरण को �ानपूव�क पिढ़ए और उससे स�ंिधत ��ो ंके िदए गए ब�िवक�ो ंम� से सही िवक� को चुिनए। 

आज की भागती दौड़ती िज�गी से मु�राहट तो न जाने कहाँ खो गई है। कुछ दशक पहले तक तो लोग एक-दूसरे को देखते ही एक संुदर सी मु�राहट के
साथ अिभवादन करते थे, िक�ु आज दशा यह है िक िकसी पहचान वाले को देखते ही ��ता को मुखौटा लगाकर अिभवादन की �ि�या से �यं को बचाकर
सुरि�त िनकलना ही बहादुरी का काय� समझते ह�। जबिक मु�राहट एक ऐसी औषिध है जो मनु� को िबना िकसी दाम के िमली है, यह उसके शारी�रक एवं
मानिसक रोगो ंका उपचार करने म� पूण�तः  स�म है। जो ��� मु�राकर िदन की शु�आत करता है वह िन�य ही सारे िदन ऊजा�वान रहता है, वह िबना िकसी
तनाव के सारे काय� कुशलता से पूण� कर पुनः  अगले िदन के िलए नए काय� को पूरा करने की कुशल रणनीित बना, िनि�� हो सो जाता है। ऐसे ��� का
सािन� सभी लोग चाहते ह�, उसकी एक छोटी सी मु�राहट के कारण �ादा से �ादा लोग उसके समीप आने का �यास करते ह�। ठीक इसके िवपरीत
अनायास ही खीजने वाले ��� से हर कोई दूरी बनाना पसंद करता है, हर कोई उससे बचना चाहता है। पुरानी कहावत है िक �स� वदन के दश�न मा� से ही
सम� काय� पूण� हो जाते ह�, अतः  हमारा �यास होना चािहए िक �यं �स� रहकर दूसरो ंको भी खुिशयाँ बांटे।



Sub questions
 
Question Number : 181 Question Id : 60092912961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अनु�ेद के अनुसार आज के समय म� िकसी पहचान वाले को देखते ही लोग �ा करते ह�?
Options :
1.  हँसी-ख़ुशी बात� करते ह�
2.  आदर-स�ार करते ह�
3.  ��ता का मुखौटा लगाकर िनकल जाते ह�
4.  �� होने के बावजूद िमलते है
 
Question Number : 182 Question Id : 60092912962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अनु�ेद म� जीवन की िकस अनमोल औषिध के बारे म� बताया गया है?
Options :
1.  ऊजा�वान
2.  अिभवादन
3.  ��ता
4.  मु�राहट
 
Question Number : 183 Question Id : 60092912963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
कैसे ���यो ंसे लोग िमलना पसंद नही ंकरते?
Options :
1.  जो हर व� िमले
2.  जो हमेशा पीछे पड़ता रहे
3.  जो हर बात पर झंुझला जाए
4.  जो हमेशा ख़ुशी-ख़ुशी िमले
 



Question Number : 184 Question Id : 60092912964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए िवक�ो ंम� से कौन-सा दशा का समानाथ� श� है?
Options :
1.  िदशा
2.  ��थित
3.  िदखावा
4.  शािमल
 
Question Number : 185 Question Id : 60092912965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए अनु�ेद का सटीक शीष�क िल�खए।
Options :
1.  मु�राहट
2.  �� िज़�गी
3.  तनाव पूण� वातावरण
4.  खीजने वाले ���
Sub-Section Number : 2
Sub-Section Id : 600929839
Question Shuffling Allowed : Yes
  
Question Id : 60092912966 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (186 to 190)
िन�िल�खत का�ांश को �ानपूव�क पिढ़ए और उससे स�ंिधत ��ो ंके िदए गए ब�िवक�ो ंम� से सही िवक� को चुिनए।

अचल खड़े रहते जो ऊँचा शीश उठाए तूफानो ंम�,
सहनशीलता, �ढ़ता हँसती िजनके यौवन के �ाणो ंम�।
वही पंथ बाधा तो तोड़े बहते ह� जैसे हो ंिनझ�र,
�गित नाम को साथ�क करता यौवन दुग�मता पर चलकर।
आज देश की भावी आशा बनी तु�ारी ही त�णाई,



नए ज� की �ास तु�ारे अंदर जगकर है लहराई।
आज िवगत युग के पतझर पर तुमको नव मधुमास �खलाना,
नवयुग के पृ�ो ंपर तुमको है नूतन इितहास िलखाना।
उठो रा��  के नवयौवन तुम िदशा-िदशा का सुन आमं�ण,
जागो, देश के �ाण जगा दो नए �ात का नया जागरण।
आज िव� को यह िदखला दो हमम� भी जागी त�णाई,
नई िकरण की नई चेतना म� हमने भी ली अंगड़ाई।
Sub questions
 
Question Number : 186 Question Id : 60092912967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नवयुवक �गित के नाम को कैसे साथ�क करते ह�?
Options :
1.  गलत िदशा ढँूढकर
2.  सुगम रा�ो ंपर चलकर
3.  तूफानो ंसे दूर जाकर
4.  दुग�म रा�ो ंपर चलकर
 
Question Number : 187 Question Id : 60092912968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
का� के अनुसार “िवगत युग के पतझर" से �ा आशय है?
Options :
1.  कुछ समय से देश म� कई उ�ेखनीय काय� �ए ह�
2.  नए प�ो-ंपौधो ंको देखकर
3.  अतीत के वे काय� जो आज पुराने पड़ चुके ह�
4.  नए पीढ़ी को देखकर खुश होना
 
Question Number : 188 Question Id : 60092912969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
किव देश के नवयुवको ंका आ�ान �ो ंकर रहा है?



Options :
1.  �ों�िक उनम� नए, काय� करने का उ�ाह की �मता की कमी है
2.  �ों�िक उनम� नए, काय� करने का उ�ाह व �मता है
3.  �ों�िक नवयुवको ंको सोने से जगाना है
4.  �ों�िक नवयुवक ब�त �ादा ह�
 
Question Number : 189 Question Id : 60092912970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए िवक�ो ंम� से कौन-सा त�णाई का पया�यवाची श� नही ंहै?
Options :
1.  ता��
2.  युवाव�था
3.  बुढ़ापा
4.  जवानी
 
Question Number : 190 Question Id : 60092912971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
का�ांश का उिचत शीष�क चुिनए।
Options :
1.  नवयुवको ंको आ�ान
2.  नवयुवको ंको नमन
3.  नवयुवको ंका समागम
4.  नवयुवको ंका भोलापन
  
Question Id : 60092912966 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (186 to 190)
िन�िल�खत का�ांश को �ानपूव�क पिढ़ए और उससे स�ंिधत ��ो ंके िदए गए ब�िवक�ो ंम� से सही िवक� को चुिनए।

अचल खड़े रहते जो ऊँचा शीश उठाए तूफानो ंम�,



सहनशीलता, �ढ़ता हँसती िजनके यौवन के �ाणो ंम�।
वही पंथ बाधा तो तोड़े बहते ह� जैसे हो ंिनझ�र,
�गित नाम को साथ�क करता यौवन दुग�मता पर चलकर।
आज देश की भावी आशा बनी तु�ारी ही त�णाई,
नए ज� की �ास तु�ारे अंदर जगकर है लहराई।
आज िवगत युग के पतझर पर तुमको नव मधुमास �खलाना,
नवयुग के पृ�ो ंपर तुमको है नूतन इितहास िलखाना।
उठो रा��  के नवयौवन तुम िदशा-िदशा का सुन आमं�ण,
जागो, देश के �ाण जगा दो नए �ात का नया जागरण।
आज िव� को यह िदखला दो हमम� भी जागी त�णाई,
नई िकरण की नई चेतना म� हमने भी ली अंगड़ाई।
Sub questions
 
Question Number : 186 Question Id : 60092912967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नवयुवक �गित के नाम को कैसे साथ�क करते ह�?
Options :
1.  गलत िदशा ढँूढकर
2.  सुगम रा�ो ंपर चलकर
3.  तूफानो ंसे दूर जाकर
4.  दुग�म रा�ो ंपर चलकर
 
Question Number : 187 Question Id : 60092912968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
का� के अनुसार “िवगत युग के पतझर" से �ा आशय है?
Options :
1.  कुछ समय से देश म� कई उ�ेखनीय काय� �ए ह�
2.  नए प�ो-ंपौधो ंको देखकर
3.  अतीत के वे काय� जो आज पुराने पड़ चुके ह�
4.  नए पीढ़ी को देखकर खुश होना
 



Question Number : 188 Question Id : 60092912969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
किव देश के नवयुवको ंका आ�ान �ो ंकर रहा है?
Options :
1.  �ों�िक उनम� नए, काय� करने का उ�ाह की �मता की कमी है
2.  �ों�िक उनम� नए, काय� करने का उ�ाह व �मता है
3.  �ों�िक नवयुवको ंको सोने से जगाना है
4.  �ों�िक नवयुवक ब�त �ादा ह�
 
Question Number : 189 Question Id : 60092912970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िदए गए िवक�ो ंम� से कौन-सा त�णाई का पया�यवाची श� नही ंहै?
Options :
1.  ता��
2.  युवाव�था
3.  बुढ़ापा
4.  जवानी
 
Question Number : 190 Question Id : 60092912971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
का�ांश का उिचत शीष�क चुिनए।
Options :
1.  नवयुवको ंको आ�ान
2.  नवयुवको ंको नमन
3.  नवयुवको ंका समागम
4.  नवयुवको ंका भोलापन
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Question Number : 191 Question Id : 60092912972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is more important than teaching?
Options :
1.  Knowledge
2.  Learning



3.  Principles
4.  Education
  
Question Number : 191 Question Id : 60092912972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
अ�ापन से �ादा मह�पूण� �ा है?
Options :
1.  �ान
2.  अिधगम
3.  जड़सू�
4.  िश�ा
  
Question Number : 192 Question Id : 60092912973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is drama?
Options :
1.  Performing dance
2.  Performing art
3.  Performing story
4.  Performing movie
  
Question Number : 192 Question Id : 60092912973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
नाटक �ा है?
Options :
1.  नृ� �दश�न
2.  कला �दश�न
3.  कहानी �दश�न



4.  चलिच� �दश�न
  
Question Number : 193 Question Id : 60092912974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is always believed to play a central role in learning?
Options :
1.  Reading
2.  Language
3.  Assessment
4.  Writing
  
Question Number : 193 Question Id : 60092912974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकसे हमेशा अिधगम म� क� �ीय भूिमका िनभाने के िलए माना जाता है?
Options :
1.  अ�यन
2.  भाषा
3.  आकलन
4.  लेखन
  
Question Number : 194 Question Id : 60092912975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Synonym of stated curriculum is:
Options :
1.  Hidden
2.  Abstract
3.  Null
4.  Explicit



  
Question Number : 194 Question Id : 60092912975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िनिद�� पा��म का समानाथ� है:
Options :
1.  अ���
2.  सार (ऐ��� ै�)
3.  बाितल
4.  मुखर (इ��सट)
  
Question Number : 195 Question Id : 60092912976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In which society the human rights of men and women are equal?
Options :
1.  Gender equal society
2.  Hindu society
3.  Transgender society
4.  National society
  
Question Number : 195 Question Id : 60092912976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
िकस समाज म� पु�षो ंऔर मिहलाओ ंके मानवािधकार समान ह�?
Options :
1.  िलंग समान समाज
2.  िहंदू समाज
3.  ट� ांसज�डर समाज
4.  रा�� ीय समाज
  



Question Number : 196 Question Id : 60092912977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Process of gathering data to better understand the strengths & weaknesses of student learning is called as______.
Options :
1.  Auditive learning
2.  Assessment learning
3.  Visual learning
4.  Haptic learning
  
Question Number : 196 Question Id : 60092912977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
छा� के अिधगम की ताकत और कमजो�रयो ंको बेहतर ढंग से समझने के िलए डेटा एक� करने की �ि�या को ________ कहा जाता है।
Options :
1.  �� अिधगम (ऑिडिटव लिन�ग)
2.  आकलन अिधगम (असे�� लिन�ग)
3.  िवजुअल लिन�ग
4.  हैि�क लिन�ग
  
Question Number : 197 Question Id : 60092912978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Development refers to:
Options :
1.  Qualitative changes
2.  Quantitative changes
3.  Monitory changes
4.  Experimental changes
  
Question Number : 197 Question Id : 60092912978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
िवकास का ता�य� है:
Options :
1.  गुणा�क प�रवत�न
2.  मा�ा�क प�रवत�न
3.  �बोधक प�रवत�न
4.  �ायोिगक प�रवत�न
  
Question Number : 198 Question Id : 60092912979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The greatest barrier to inclusion are caused by whom?
Options :
1.  Neighbourhood
2.  Friends
3.  Society
4.  Family
  
Question Number : 198 Question Id : 60092912979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
समावेशन म� सबसे बड़ी बाधा िकसके कारण होती है?
Options :
1.  अड़ोस - पड़ोस
2.  िम�
3.  समाज
4.  प�रवार
  
Question Number : 199 Question Id : 60092912980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Characteristics of language, emotional, social & physical development comes in which age?
Options :
1.  Early childhood
2.  Young age
3.  Teenager
4.  Middle age
  
Question Number : 199 Question Id : 60092912980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
भाषा के ल�ण, संवेगना�क, सामािजक और शारी�रक िवकास िकस आयु म� आते ह�?
Options :
1.  बचपन
2.  युवा आयु
3.  िकशोर
4.  म�म आयु
  
Question Number : 200 Question Id : 60092912981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What is nature but it is not nature?
Options :
1.  Art
2.  Dance
3.  Drama
4.  Story
  
Question Number : 200 Question Id : 60092912981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
�कृित �ा है लेिकन �कृित नही ंहै?
Options :



1.  कला
2.  नृ�
3.  नाटक
4.  कहानी


